Si1gnfix

PRODUCTCATALOGUE @ A U s T R A L I A




CONTENTS

BRACKETS AND CLAMPS 2
Aluminium Brackets & Fixings 4
Steel Channel Clamps, Brackets & Fixings 5
Aluminium Channel 7
Anti-Theft Vandal Proof Fixings 7
Street Blade Brackets 8
Band-It® Bands, Buckles & Brackets 9
Hazard Board Bracket Kit 10

FRANGIBLE SIGN SUPPORT STRUCTURES 12
Introduction 14
Mash Approval 15
Signfix® System Features 16
Optimast® System Features 18
Signfix Products 20
Optimast Products 24

FRANGIBLE SIGN SUPPORT INSTALLATION 30
Signfix Installation 32
Optimast Installation 36

WIND CHARTS 40
Australian Wind Regions 42
Signfix Wind Regions 43
Optimast Wind Regions 47
Gallery 59

Page 1 | Product Catalogue



signfix

AAAAAAAAA

BRACKETS
& CLAMPS

Page2 | Product Catalogue



ALUMINIUM BRACKETS & FIXINGS

STEEL CHANNEL CLAMPS, BRACKETS & FIXINGS

ALUMINIUM CHANNEL

ANTI-THEFT VANDAL PROOF FIXINGS

STREET BLADE BRACKETS

BAND-IT® BANDS, BUCKLES & BRACKETS

HAZARD BOARD BRACKET KIT

10



Signfix

A U S T R A L I A

BRACKETS & CLAMPS

ALUMINIUM BRACKETS & FIXINGS

Structural aluminium alloy brackets that offer a robust fitting for small flat signs on 50mm NB and 65mm NB poles.
Highly resistant to corrosion and impacts.

SINGLE AND DOUBLE SIDED BRACKETS

CODE DESCRIPTION QTY (BOX)

TD1SGNFX 50MM NB ALUM RING BRACKET 200
TD2SGNFX 50MM NB D/SIDED ALUM RING BRACKET 200

BOLTS & WASHERS NOT INCLUDED

FRISBEE BRACKET
CODE DESCRIPTION QTY (BOX)
RZ200 50MM NB FRISBEE HALF BRACKET 100

BOLTS & WASHERS NOT INCLUDED

SINGLE SIDED HEAVY DUTY DOUBLE BOLT UNI-CLAMP

CODE DESCRIPTION QTY (BOX)

AUO60MCH-02 50MM NB ALUM UNI-CLAMP S/SIDED 50
AU076MCH-02 65MM NB ALUM UNI-CLAMP S/SIDED 50

BOLTS, WASHERS AND NUTS INCLUDED

DOUBLE SIDED HEAVY DUTY DOUBLE BOLT UNI-CLAMP

CODE DESCRIPTION QTY (BOX)

AU0060BMCH-02 50MM NB ALUM UNI-CLAMP D/SIDED 50
AU0076BMCH-02 ~ 65MM NB ALUM UNI-CLAMP D/SIDED 50
BOLTS, WASHERS AND NUTS INCLUDED

SINGLE BOLT UNI-CLAMP BRACKETS

CODE DESCRIPTION QTY (BOX)

TD1UNIO60 50MM NB TWO PIECETD1 TYPE UNI-CLAMP 100
TD1UNIO76 65MM NB TWO PIECETD1 TYPE UNI-CLAMP 50

BOLTS & WASHERS INCLUDED

M10 FIXING BOLTS
M10-HEXCP21 M10 X 21TMM M/G CONE POINT HEX 100
M10-HEXCP25 M10 X 25MM M/G CONE POINT SET SCREW 100
M10-16HEXSET M10 X 1T6MM M/G HEX SET SCREW 100
M10-MGWASH M10 X 2MM M/G FLAT WASHER 100
M10-SSWASH M10 X 1.2MM S/S FLAT WASHER 100

Page4 | Product Catalogue



Signfix

A U S T R A L I A

STEEL CHANNEL CLAMPS, BRACKETS & FIXINGS

Signfix clamps, brackets and clips secure signs to posts of every shape and size. Signs installed using Signfix products offer
greater on-site flexibility and can be offset with ease.

The stainless steel product range is manufactured using AlSI 304 alloy, a highly durable material particularly beneficial
when impact resistance and anti-corrosion is important.

The stainless steel fittings have been subjected to ASTM B117 salt-spray testing for 500 hours with no significant corrosion.
They are highly suitable in coastal regions.

With a market presence of over 20 years, the Signfix range of superior quality products have proven longevity.

SINGLE BOLT SADDLE BRACKETS

CODE DESCRIPTION QTY (BOX)

ARC060CH S/STEEL BRACKET FOR 50MM NB POLE 200
ARCO76CH S/STEEL BRACKET FOR 65MM NB POLE 200
ARCO89CH S/STEEL BRACKET FOR 80MM NB POLE 100
ARC102CH S/STEEL BRACKET FOR 90MM NB POLE 100
ARC114CH S/STEEL BRACKET FOR 100MM NB POLE 100

BOLTS & NUTS NOT INCLUDED

DOUBLE BOLT SADDLE BRACKETS

CODE DESCRIPTION QTY (BOX)

HDTB140CH S/STEEL 2 BOLT BRACKET FOR 125MM NB POLE 50
HDTB165CH S/STEEL 2 BOLT BRACKET FOR 150MM NB POLE 50
BOLTS & NUTS NOT INCLUDED

MILD STEEL GALVANISED STIRRUP BRACKET C/W NUT & BOLT

CODE DESCRIPTION QTY (BOX)

STRBO60G GALV STEEL BRACKET FOR 50MM NB POLE 100
STRB076G GALV STEEL BRACKET FOR 65MM NB POLE 100

BOLT & NUT INCLUDED

Page5 | Product Catalogue



Signfix

AU S T R A L I A

BRACKETS & CLAMPS

STEEL CHANNEL CLAMPS, BRACKETS & FIXINGS

BACKTO BACK CLIPS
BBC060CH S/STEEL CLIP FOR 50MM NB POLE 400
BBC076CH S/STEEL CLIP FOR 65MM NB POLE 400
BBC089CH S/STEEL CLIP FOR 80MM NB POLE 400
BBC102CH S/STEEL CLIP FOR 90MM NB POLE 400

BOLT & NUT NOT INCLUDED

RHS BRACKETS
LRH5050CH 50 X 50MM S/STEEL LRH* BRACKET 100
LRH7550CH 75 X 50MM S/STEEL LRH* BRACKET 100
LRH7575CH 75 X 75MM S/STEEL LRH* BRACKET 100
LRH3876CH 38 X 76MM S/STEEL LRH* BRACKET 100
LRH8989CH 89 X 89MM S/STEEL LRH* BRACKET 100
LRH1005CH 100 X 50MM S/STEEL LRH* BRACKET 100
LRH1010CH 100 X T00MM S/STEEL LRH* BRACKET 100
LRH12575CH 125 X 75M S/STEEL LRH* BRACKET 100
HRH1510CH 150 X T00MM S/STEEL RHS** BRACKET 100
HRH2010CH 200 X T00MM S/STEEL RHS** BRACKET 100
HRH2515CH 250 X 150MM S/STEEL RHS** BRACKET 100

*LIGHT RECTANGULAR HOLLOW SECTION POSTS **HEAVY RECTANGULAR HOLLOW SECTION POSTS
BOLT & NUT NOT INCLUDED

RSJM10 TOE CLAMP C/W TEE BOLT, WASHER & NYLOC NUT

CODE DESCRIPTION QTY (BOX)

RSJ0O03 M10 S/STEEL TOE CLAMP C/W 50T BOLT & NUT 200
BOLT & NUT INCLUDED

FIXINGS FOR STAINLESS STEEL CHANNEL CLAMPS & BRACKETS

CODE DESCRIPTION QTY (BOX)

M10-32CHB M10 X 32MM MECHANICALLY GALVANISED CUP 100
HEAD NUT & BOLT

M10-40CHB M10 X 40MM MECHANICALLY GALVANISED CUP 200
HEAD NUT & BOLT

M10-32T M10 X 32MM MECHANICALLY GALVANISED TEE BOLT & NUT 500

M10-50TNYLOC M10 X 50MM MECHANICALLY GALVANISED TEE BOLT & 100
NYLOC NUT

M10-50T-SET M10 X 50MM MECHANICALLY GALVANISED TEE BOLT & HEX 100
NUT

Page 6 | Product Catalogue



Signfix

A U S T R A L I A

ALUMINIUM CHANNEL

The aluminium alloy M10 channel provides a robust structure for Signfix clamps, brackets and fixings.

M10 CHANNEL
CODE DESCRIPTION QTY (BOX)
M10-CHANNEL/6 ~ M10 CHANNEL 6M LENGTH MILL PER LENGTH

ANTI-THEFT VANDAL PROOF FIXINGS

High performance M10 trilobular fixings to prevent theft and vandalisation.

TRILOB SPANNER / TRILOB HEX BIT / TRILOB BOLT

CODE DESCRIPTION QTY (BOX)

TRILOBSPAN M10 TRILOBULAR SPANNER EACH
TRILOBKEY SECURITY KEY FORTRILOBULAR SCREW EACH
M10-TRILOB20SS M10 X 20MM TRILOBULAR COUNTERSUNK SET SCREW ZY 100
M10-TRILOB21CP  M10 X 21MM TRILOBULAR CONE POINT SET SCREW ZY 100
M10-TRILOB25ZY ~ M10 X 25MM TRILOBULAR SET SCREW ZY 100
M10-TRILOB25SS M10 X 25MM TRILOBULAR SET SCREW SS 100
M10-TRILOB40 M10 X 40MM TRILOBULAR BOLT ZY 100

SHEAR NUTS GALVANISED M10

CODE DESCRIPTION (0] (:{0) 4]

M10-SHEARNG M10 SHEAR NUT GALV 100

Page7 | Product Catalogue



Signfix

A U S T R A L I A

BRACKETS & CLAMPS

STREET BLADE BRACKETS

Street blade brackets are available for 50NB & 65NB poles.

SNB 1 WAY
SNB-150-50 50MM NB X 150 STREET NAME BLADE BRACKET EACH
SNB-200-50 50MM NB X 200 STREET NAME BLADE BRACKET EACH
SNB-150-65 65MM NB X 150 STREET NAME BLADE BRACKET EACH
SNB-200-65 65MM NB X 200 STREET NAME BLADE BRACKET EACH

BOLTS, WASHERS AND NUTS INCLUDED

SNB 2 WAY
SNB2-150-50 50MM NB X 150 2 WAY STREET NAME BLADE BRACKET EACH
SNB2-200-50 50MM NB X 200 2 WAY STREET NAME BLADE BRACKET EACH

BOLTS, WASHERS AND NUTS INCLUDED

SNB 3 WAY
SNB3-150-50 50MM NB X 150 3 WAY STREET NAME BLADE BRACKET EACH
SNB3-200-50 50MM NB X 200 3 WAY STREET NAME BLADE BRACKET EACH

BOLTS, WASHERS AND NUTS INCLUDED

MINI OFFSET BRACKET
CODE DESCRIPTION QTY (BOX)
OSBMSNP-01 MINI OFFSET BRACKET C/W TWO M10 SLOTTED HOLE ANGLE ~ EACH

BOLTS, WASHERS AND NUTS NOT INCLUDED

Mini Offset Bracket

Page 8 | Product Catalogue



Signfix

A U S T R A L I A

BAND-IT® BANDS, BUCKLES & BRACKETS

Signfix offers the sign industry the versatility of stainless steel bands and fittings specially designed and packaged for sign makers
and installers. The premium quality stainless steel is compatible with other Signfix materials, suiting small to large diameter poles.

201 GRADE S/STEEL BAND, BUCKLES AND BANDING TOOL

CODE DESCRIPTION QTY (BOX)

STR13 13MM S/STEEL BAND X 30M COIL 5
STR16 16MM S/STEEL BAND X 30M COIL 5
STR19 19MM S/STEEL BAND X 30M COIL 5
Co01 BANDING TOOL 1
BUC13 13MM S/STEEL BUCKLES (REGULAR) 100
BUC16 16MM S/STEEL BUCKLES (REGULAR) 100
BUC19 19MM S/STEEL BUCKLES (REGULAR) 100
RB138 10MM S/STEEL BAND (REGULAR) X 30M COIL 1
RS138 10MM S/STEEL BUCKLES (REGULAR) 100
BS192 PRE-CUT BANDS S/STEEL FOR 150MM OD POLE 50
BS193 PRE-CUT BANDS S/STEEL FOR 300MM OD POLE 50

STR13, STR16, STR19 - to calculate the approximate amount of banding required, multiply the
pole diameter by 3.14 or pi (), then add on an extra 120mm for fixing with the Band-It Tool,
e.g. 114mm OD pole x 3.14 = 358mm + 120mm = 478mm.

Also available: 316 grade s/steel for coastal regions.

BANDING BRACKETS

CODE DESCRIPTION QTY (BOX)

UR151 FLARED 19MM HIGH BRACKET COMPLETE WITH M8 X 12MM 100
SET SCREW AND WASHER MAXIMUM BAND WIDTH 13MM

UR251 FLARED 27MM HIGH BRACKET COMPLETE WITH M8 X 16 MM 100
SET SCREW AND WASHER MAXIMUM BAND WIDTH 19MM

UR251CH FLARED 29MM HIGH BRACKET COMPLETE WITH M10 X 16MM 200
SET SCREW AND WASHER MAXIMUM BAND WIDTH 19MM

MR135-9 135MM LONG S/STEEL BANDING BRACKET 100

D007 L BANDING BRACKET 50

UCco02 M10 UNIVERSAL CHANNEL CLAMP 100

L Banding Bracket

Page9 | Product Catalogue



sSignfix

A U S T R A L I A

BRACKETS & CLAMPS

HAZARD BOARD BRACKET KIT

Available from Signfix, Hazard Board Heavy Duty Brackets are designed to mitigate road
signs spearing vehicle windscreens. TMR Queensland has developed and tested a new
design and issued Standard Drawing 1452. By strengthening the post connections with
heavy duty clamps, the risk of sight board signs spearing is reduced as the sign is pulled
down with the post on impact, rather than sliding off the post.

HAZARD BOARD HEAVY DUTY BRACKET KIT

CODE DESCRIPTION

HAZ-BRACKETKIT ~ HAZARD BOARD HEAVY DUTY BRACKET KIT QLD TMR SPECIFICATION
DRAWING SD1452

Page 10 | Product Catalogue

This project was awarded the
2018 Innovation Award at
the Department of Transport
and Main Roads Engineering
Technology Forum



Signfix

A U S T R A L I A

COMPONENT ASSEMBLY COMPONENT LIST
1* M10 X 55 HEX BOLD.
GRADE 4.6 GALVANISED

n 2
Ek . 2 FLAT WASHER 40 OD

X 111D X 2MM THICK
GALVANISED

3***  ALUMINIUM SIGN FACE

4***  TYPE 1 ALUMINIUM
STIFFENER RAIL

5 M10 X 30 COACH BOLT.
GRADE 4.6 GALVANISED

6 SPLICE PLATE
ALUMINIUM

7 M10 FLAT WASHER
GALVANISED

8 M10 HEX NUT. GRADE
4.6 GALVANISED
n 9 HEAVY DUTY POST

CLAMP GALVANISED

10** M8 X 20 TAPITE HEX

SELF-TAPPING SCREW
10 11 SIGN POST 60 OD

12 7.3MM DRILL BIT

Notes:

* Drill 10mm dia. holes through stiffener

SPLICE PLATE ASSEMBLY rail and sign face to fit M10 bolts.
CONNECTION AT SIGN JOINT ** Drill 7.3 dia. holes in post to accept

Taptite screws
*** NI = Not Included

)E
p

Page 11 | Product Catalogue



AAAAAAAAA

FRANGIBLE
SIGN SUPPORT
STRUCTURES




INTRODUCTION

MASH APPROVAL

SIGNFIX® SYSTEM FEATURES

OPTIMAST® SYSTEM FEATURES

SIGNFIX PRODUCTS

OPTIMAST PRODUCTS

14

15

16

18

20

24



Signfix

A U S T R A L I A

FRANGIBLE SIGN SUPPORT STRUCTURES

INTRODUCTION

Signfix™ is Australia’s leading frangible aluminium signpost range
and used extensively by state and territory road authorities. In
addition to its compliant passive safety features, Signfix is popular
with construction contractors due to its lightweight design and
ease of installation.

The Signfix range can be installed as a single sign support or a
multi leg assembly. The system allows up to 16m? single sign
dimensions in the major Australia wind zone regions.

Signfix frangible poles range 60-114mm in outer diameter

and hold up to 16m? road signs in Australian wind regions.

We are pleased to introduce Optimast® into the market,

a complimentary frangible signpost range for larger sign
dimensions of up to 40m? across the major Australia wind regions.
The increased signage area enables road designers and engineers
to specify passive sign structures for large scale traffic messaging
such as highway directional signage.

Both the Signfix and Optimast ranges are convenient
out of the box products, thus requiring very little intervention
from sign installation crews or civil engineers.

Optimast range 127-244mm in diameter and hold up to 40m?
road signs in Australian wind regions

> Signfix fluted poles come in
3.2m-6.5m lengths, depending on
the pole diameter.

> Pole sizes: @60mm, @76mm,
@89mm, @102mm, @114mm.

> Poles inserted into corresponding
sized aluminium ground sleeve
sockets, set in concrete foundations.

> Ground sleeves vary 300-1000mm
in length

> Upon vehicle impact, the sleeve
acts as a shear point, safely
breaking away the pole at the
socket top.

@

Page 14 | Product Catalogue

> Optimast poles come in
5.0m-8.0m lengths, depending
on the pole diameter

> Pole sizes: @127mm, @168mm,
@219mm, @244mm.

> Poles are affixed to base plates
with shear bolts.

> The base plates are attached to
anchor cradles set in concrete
with foundation bolts.

> Upon vehicle impact, shear bolts
safely breakaway the pole from
the base plate.




Signfix

A U S T R A L I A

MASH APPROVAL

Austroads, the peak body of Australasian road transport and traffic agencies, require
new and existing road safety products to comply to the updated testing guidelines of
AS/NZS3845.1 (2015) and AS/NZS3845.2 (2017). Road safety products must now be
tested to the American Association of State Highway and Transport Officials (AASTO)
2009 Manual for Assessing Safety Hardware (MASH) guidelines. MASH testing
supersedes NCHRP 350 testing for Australia and New Zealand road barrier products.

Signfix and Optimast product
After extensive vehicle impact tests were undertaken on the Signfix and Optimast g9 P p .
product ranges by a leading FHWA testing facility, the Signfix and Optimast product ranges are MASH compliant

ranges are MASH compliant and approved by Austroads Safety Barrier Assessment and approved by Austroads

Panel (ASBAP) for use on Australia and New Zealand road networks. Safety Barrier Assessment

Panel (ASBAP) for use on
Australia and New Zealand
road networks.

MASH APPROVED

MASH test reports for Signfix and Optimast are available upon request.

Page 15 | Product Catalogue



sSignfix

FRANGIBLE SIGN SUPPORT STRUCTURES | SIGNFIX® SYSTEM FEATURES

FEATURES OF THE SIGNFIX® SYSTEM

A

Aluminium fluted pole

The post cap must be fitted into
the pole to reduce water ingress.

The ground sleeve seal must be
fitted to prevent dirt and water
from entering the ground sleeve.

Bung for
shear hole

Stainless steel transition
shoe must be fitted and
placed betweeen the pole
and locking bolts with the
locking evenly tightened

The requirement to meet stringent
MASH testing guidelines have led

between 10 --12 Nm
7L /. to modifications of the Signfix
frangible sign support product
Maximum 90mm . < 2 x M10 trilobular range as detailed below:
/ T stainless steel set screws
LR LS SIGNFIX NCHRP 350 COMPLIANT
DESIGN (100NB)
<— Concrete foundation <.
to local engineers =
specification “H
\
Product Codes
< Al a-a AFP114/6.5
< uminium SLV1141000
. X ground sleeve
Varies Varies
SIGNFIX MASH
COMPLIANT DESIGN (100NB)
2 sealed apertures located 90°
each side from facing traffic A
Restraint bolt \
to secure )
. < Sleeve end cap sleeve and pole
-
Product Codes
. 000
—7 AFPM114/6.5
|' L SLVM1141000
,l Minimum 400mm ,l

Page 16 | Product Catalogue



Longstanding performance in
Australia conditions.

The patented Signfix fluted pole and
socket system meets or exceeds the
MASH testing thresholds for frangible
structures.

Successfully undertaken rigorous
impact testing with 1100kg and 2270kg
vehicles at speeds of 30km/h and
100km/h by a leading FHWA accredited
testing agency.

Occupant Impact Velocity below the
preferred 3.0m/s thresholds (4.9m/s
maximum).

Occupant Ride-down Deceleration well
below the preferred 15.0g threshold.

Deformations of vehicle occupant
department and post impact vehicle
trajectory within acceptable limitations.

INSTALLATION

The lightweight extruded aluminium
components are easy to handle and
convenient to transport.

Simple to install with no specialist
equipment required - props are not
required for installing ground sleeves
and larger poles during the foundation
hardening process.

Damaged poles are easily removed,
and replacement poles re-installed into
existing sleeve foundations.

Wind chart system allows installers
to easily determine optimal pole
configuration (number of poles
and size).

Clear instruction manuals provided.

Signfix

A U S T R A L I

DESIGN

Structurally designed to support a
sign area of up to 16m?2.

The fluted pole diameter sizes fit all
standard bracket types.

Lightweight Signfix aluminium
frangible poles are similar in strength
to steel equivalents.

Patented stainless-steel transition
shoe is supplied to prevent wear
and eliminate any electrolysis action
between the locking bolts and pole.

Revised MASH design range comes
with polymer seals, plugs and caps to
prevent water ingress.

Corrosion resistance from high quality
marine grade aluminium alloy.

Page 17 | Product Catalogue



sSignfix

AU S T R A L I A

FRANGIBLE SIGN SUPPORT STRUCTURES | OPTIMAST® SYSTEM FEATURES

FEATURES OF THE OPTIMAST® SYSTEM

i

Page 18 | Product Catalogue

The extruded aluminium mast is
delivered assembled with shear
bolts attached to the base plate

The foundation bolt
arrangements range from:

> M16 (2127)
> M20 (2168, @219)
> M24 (@244)

The Anchor Cradle Assembly comprises
of a pre-fabricated socket type anchor,
a wooden ‘template’ that can be used
for shuttering/battering purposes and
4 securing bolts. These bolts are used
simply as an aid to cast the anchor
cradle and as a means of preventing
site debris from entering the socket(s).




Proven performance in the UK,
Germany and France, Optimast
complies to BS EN 12767 and
has achieved the highest safety
accreditation, 100 NE3.

The Optimast system meets or exceeds
the MASH testing thresholds for
frangible structures.

Successfully undertaken rigorous
impact testing by a leading FHWA
accredited testing agency.
Occupant Impact Velocity below the
preferred 3.0m/s thresholds (4.9m/s
maximum).

Occupant Ride-down Deceleration
below the preferred 15.0g threshold.
Deformations of vehicle occupant
department and post impact vehicle

trajectory within acceptable limitations.

INSTALLATION

The extruded aluminium mast (5-8m
lengths), shear bolts and base plate are
delivered fully assembled.

Simple to install base plate with
foundation bolts onto an anchor cradle
socket set into a concrete foundation.

Easy to replace damaged poles, which
are easily removed and re-installed
onto existing foundations.

Wind chart system allows installers

to easily determine optimal pole
configuration (number of poles

and size).

Clear instruction manuals provided.

Signfix

A U S T R A L I

DESIGN

Structurally designed to support large
directional signs of up to 40m?.

Signfix provides specialised Optimast
clamps with rubber lining to affix mast
to sign channel.

Strong extruded aluminium cylindrical
design has similar strength to steel
equivalents.

Corrosion resistant high-quality marine
grade aluminium alloy.

Page 19 | Product Catalogue



Signfix

AU S T R A L I A

FRANGIBLE SIGN SUPPORT STRUCTURES | SIGNFIX® PRODUCTS

50NB & 65NB SIGNFIX FRANGIBLE SIGN SUPPORTS

FLUTED ALUMINIUM POLES

The high-strength marine grade alloy
used in 50NB and 65NB Signfix fluted
aluminium poles is light weight and
has excellent corrosion resistance.

Standard pole lengths:
50NB (600D) > 3.2m, 4.0m
65NB (760D) > 4.5m

ACCESSORIES AND COMPONENTS

SLEEVE WEDGE

Standard zinc plated wedge. 600D and
760D sleeves are designed to be fitted
with a standard wedge, allowing sleeves
to be installed flush at ground level.

POLY POST CAP & POLY SLEEVE SEAL
To reduce water ingress the poly cap and
poly seal tightly form firm fits at the top
of the post and sleeve.

RESTRAINT BOLT
Securing the pole in the sleeve retained
with a kinmar security nut and SS bolt.

Poly Cap

Sleeve Wedge Poly Sleeve Seal

Patent protected

Page 20 | Product Catalogue

POWDER COATED ALUMINIUM
GROUND SLEEVES

Designed to suit both 50NB and 60NB
aluminium fluted and galvanised steel
poles, Signfix ground sleeves are made
from high strength marine grade alloy.

The alloy has excellent corrosion resistance
and over the years has proven performance
with aluminium frangible poles.

GROUND SLEEVE LENGTHS

50NB (600D) > 300mm, 400mm,
450mm & 600mm

65NB (760D) > 600mm

Features include:

> The external shape ensures sleeves will
not rotate when set in concrete.

> Internal dimensions of all sleeves are
designed to be a snug fit with the pole.

> Sleeves are fitted with PVC end caps to
prevent concrete entering the sleeve
during installation.

Sleeves can be supplied with an M10
tapped hole located 15mm below the
sleeve top, to fit either an M10 hex bolt
or a trilobular security set screw. This
option is ideal for securing PVC poles
and in this instance, it is recommended
that the sleeves are placed 30mm
above ground level.

50NB ground sleeves available in
300, 400, 450 and 600mm lengths

65NB pole assembly



Signfix

A U S T R A L I A

50NB (600D) SIGNFIX FRANGIBLE POLES

g 50NB POLES, SLEEVES & ACCESSORIES
« @

AFP060/3.2 50MM NB X 3.2M ALUM FLUTED POLE MILL FINISH

AFP060/4 50MM NB X 4.0M ALUM FLUTED POLE MILL FINISH

SLV060300 50MM NB X 300MM ALUM GROUND SLEEVE FOR 50MM NB POLE

SLV060300-DT 50MM NB X 300MM ALUM GROUND SLEEVE FOR 50MM NB POLE
DRILLED & TAPPED W TRILOB

SLV060400 50MM NB X 400MM ALUM GROUND SLEEVE FOR 50MM NB POLE

SLV060400-DT 50MM NB X 400MM ALUM GROUND SLEEVE FOR 50MM NB POLE
DRILLED & TAPPED W TRILOB

SLV060450 50MM NB X 450MM ALUM GROUND SLEEVE FOR 50MM NB POLE

SLV060450-DT 50MM NB X 450MM ALUM GROUND SLEEVE FOR 50MM NB POLE
DRILLED & TAPPED W TRILOB

SLV060600 50MM NB X 600MM ALUM GROUND SLEEVE FOR 50MM NB POLE

SLV060600-DT 50MM NB X 600MM ALUM GROUND SLEEVE FOR 50MM NB POLE
DRILLED & TAPPED W TRILOB

SLVWEDGEO060 GROUND SLEEVE WEDGE

POLYCAP060 50MM NB POLY POST CAP

POLYSEALO60 50MM NB POLY SLEEVE SEAL

AFPMRST060 RESTRAINT DEVICE TO SUIT 50MM NB POLE

65NB (760D) SIGNFIX FRANGIBLE POLES

65NB POLES, SLEEVES & ACCESSORIES

CODE DESCRIPTION

AFP076/4.5M 65MM NB X 4.5M ALUM FLUTED POLE MILL FINISH
SLV076600M 65MM NB X 600MM ALUM GROUND SLEEVE FOR 65MM NB POLE

POLEKITO76M 65NB KIT SET C/W POLYCAPO076, POLYSEALO76, POLYPLUGO76 X 2,
M12 X 104MM RESTRAINT BOLT, KINMAR NUT, NYLON WASHER X 2

POLYCAPO76 65MM NB POLY POST CAP

POLYSEALO76 65MM NB POLY SLEEVE SEAL

AFPRST076 RESTRAINT DEVICE TO SUIT 65MM NB POLE
KINMARSOCKETM  KINMAR DRIVE SOCKET - M12

M - Denotes MASH range

Page 21 | Product Catalogue



Signfix

AU S T R A L I A

FRANGIBLE SIGN SUPPORT STRUCTURES | SIGNFIX® PRODUCTS

8ONB, 90NB & 1T00NB SIGNFIX FRANGIBLE SIGN SUPPORTS

FLUTED ALUMINIUM POLES

The high-strength marine grade alloy

used in 80NB, 90NB and 100NB Signfix
fluted aluminium poles is light weight
and has excellent corrosion resistance.

Standard pole lengths:

80NB (890D) > 5.5m lengths
90NB (1020D) > 6.0m lengths
T100NB (1140D) > 6.5m lengths

ACCESSORIES AND COMPONENTS

TRANSITION WEAR SHOE

80NB, 90NB and 100NB sleeves are
designed to be fit with a transition
shoe & two trilobular fasteners.

The patented stainless steel transition
shoe fits between the aluminium pole
wall and M10 trilobular locking bolts, to
prevent fracture points and eliminate any
electrolysis action. The innovative stainless
steel transition shoe MUST be placed
between the pole and locking bolts and
tightened evenly between 10 and 12 Nm.

POLY POST CAP & POLY SLEEVE SEAL
To reduce water ingress the poly cap and
poly seal tightly form firm fits at the top
of the post and sleeve.

RESTRAINT BOLT (KINMAR)

Calibrated to secure a pole and sleeve
to shear safely through stringent MASH
vehicle impact tests.

Transition Shoe Poly Cap

Patent protected

Page 22 | Product Catalogue

POWDER COATED ALUMINIUM
GROUND SLEEVES

Designed to suit 80NB, 90NB and 100NB
aluminium frangible poles, Signfix
ground sleeves are made from high
strength marine grade alloy. The powder
coated sleeve has excellent resistance to
corrosion and over the years has proven
performance with our aluminium poles.
GROUND SLEEVE LENGTHS

80NB (890D) > 750mm lengths

90NB (1020D) > 850mm lengths

100NB (1140D) > 1000mm lengths

Features include:

> The external shape ensures sleeves
will not rotate when set in concrete.

> Internal dimensions of all sleeves are
designed to be a snug fit with the pole.

Sleeves are fitted with PVC end caps to
prevent concrete entering the sleeve
during installation.

Kinmar Nut & Socket

Restraint Bolt
Assembly

Poly Sleeve Seal

Ground sleeve
pole assembly



Signfix

A U S T R A L I A

80NB (890D) SIGNFIX FRANGIBLE POLES

80NB POLES, SLEEVES & ACCESSORIES

CODE DESCRIPTION

AFPMO089/5.5M 80MM NB X 5.5M ALUM FLUTED POLE MILL FINISH

SLV089750M 80MM NB X 750MM ALUM GROUND SLEEVE FOR 80MM NB POLE

POLEKITO89M 80ONB KIT SET C/W POLYCAP089, POLYSEAL089, POLYPLUGO089 X 2,
M12 X 119MM RESTRAINT BOLT, KINMAR NUT, NYLON WASHER X 2

POLYCAP089 80MM NB POLY POST CAP

POLYSEALO089 80MM NB POLY SLEEVE SEAL

AFPRST089 RESTRAINT DEVICE TO SUIT 80MM NB POLE

KINMARSOCKETM  KINMAR DRIVE SOCKET - M12

M - Denotes MASH range

90NB (1020D) SIGNFIX FRANGIBLE POLES

90NB POLES, SLEEVES & ACCESSORIES

CODE DESCRIPTION

AFP102/6M 90MM NB X 6M ALUM FLUTED POLE MILL FINISH

SLV102850M 90MM NB X 850MM ALUM GROUND SLEEVE FOR 90MM NB POLE

POLEKIT102M 90NB KIT SET C/W POLYCAP102, POLYSEAL102, POLYPLUG102 X 2,
M12 X 133MM RESTRAINT BOLT, KINMAR NUT, NYLON WASHER X 2

POLYCAP102 90MM NB POLY POST CAP

POLYSEAL102 90MM NB POLY SLEEVE SEAL

AFPRST102 RESTRAINT DEVICE TO SUIT 90MM NB POLE

KINMARSOCKETM  KINMAR DRIVE SOCKET - M12
M - Denotes MASH range

100NB (1140D) SIGNFIX FRANGIBLE POLES

T100NB POLES, SLEEVES & ACCESSORIES

CODE DESCRIPTION

AFP114/6.5M 100MM NB X 6.5M ALUM FLUTED POLE MILL FINISH

AFP114PCG61M POWDER COATING GREEN G61 100MM NB POLES

SLV1141000M 100MM NB X TM ALUM GROUND SLEEVE FOR 100MM NB POLE

POLEKIT114M 100NB KIT SET C/W POLYCAP114, POLYSEAL114, POLYPLUG114 X 2,
M12 X 146MM RESTRAINT BOLT, KINMAR NUT, NYLON WASHER X 2

POLYCAP114 100MM NB POLY POST CAP

POLYSEAL114 100MM NB POLY SLEEVE SEAL

AFPRST114 RESTRAINT DEVICE TO SUIT 100MM NB POLE

KINMARSOCKETM  KINMAR DRIVE SOCKET - M12

M - Denotes MASH range

Page 23 | Product Catalogue



Signfix

AU S T R A L I A

FRANGIBLE SIGN SUPPORT STRUCTURES | OPTIMAST® PRODUCTS

OPTIMAST FRANGIBLE SIGN SUPPORT SYSTEM COMPONENTS

Structurally designed to support signs of up to 40m?, Optimast is the largest & strongest frangible support system available in Australia.

Optimast is constructed using recyclable aluminium and offers pole dimensions of 127mm, 168mm, 219mm and 244mm, suiting a large
range of sign sizes.

Optimast is designed so that the pole breaks away at the shear bolt when impacted by a vehicle, leaving the baseplate, foundation
bolts and anchor cradle intact. The anchor cradle and concrete foundation should remain undamaged and the baseplate can be
easily removed - thus a new mast can be installed onto the existing anchor cradle foundation.

MASTS

|
v
12|7mm 168mm 219mm 244mm

Optimast 127 Optimast 168 Optimast 219 Optimast 244
BASE PLATES Optimast 244
g N\ A
o
A
Optimast 168 Optimast 219
Optimast 127 o © A | £
E| E
HE
E| €
HE
&=
\4
Y
o e y K J y
@20mm to suit -\; @25mm to suit L @30mm to suit
M16 foundation set M20 foundation set M24 foundation set
FOUNDATION ANCHOR CRADLES
Optimast 127 Optimast 168 and 219 Optimast 244

Page 24 | Product Catalogue



Signfix

A U S T R A L I A

127 OPTIMAST FRANGIBLE MAST C/W BASE PLATE

Ll 127 POLES & BASE PLATE

CODE DESCRIPTION

OPTI127X5000 127MM OD X 5M ALUM SIGN MAST POLE, C/W FITTED CAP & BASE PLATE

\ - HEAVY DUTY 2-BOLT ‘D’ BRACKETS (FOR OPTIMAST SIGN POLES)

(cobE | DEscRIPTION QTY (BOX)

OPTIFIXING127 HEAVY DUTY S/STEEL 2-BOLT ‘D’ CLIP WITH RUBBER INSERT 50
FOR 127 OPTIMAST POLE

M10-50T-SET M10 X 50MM MECHANICALLY GALVANISED TEE BOLT & HEX NUT

168 OPTIMAST FRANGIBLE MAST C/W BASE PLATE

a |l 168 POLES & BASE PLATE

OPTI168X5500 168MM OD X 5.5M ALUM SIGN MAST POLE, C/W FITTED CAP & BASE PLATE

e

HEAVY DUTY 2-BOLT ‘D’ BRACKETS (FOR OPTIMAST SIGN POLES)

CODE DESCRIPTION QTY (BOX)

OPTIFIXING168 HEAVY DUTY S/STEEL 2-BOLT ‘D’ CLIP WITH RUBBER INSERT 50
FOR 168 OPTIMAST POLE

CODE DESCRIPTION

M10-50T-SET M10 X 50MM MECHANICALLY GALVANISED TEE BOLT & HEX NUT

Page 25 | Product Catalogue



Signfix

A U S T R A L I A

FRANGIBLE SIGN SUPPORT STRUCTURES |

219 OPTIMAST FRANGIBLE MAST C/W BASE PLATE

219 POLES & BASE PLATE

OPTI219X6000 219MM OD X 6M ALUM SIGN MAST POLE, C/W FITTED CAP & BASE PLATE

HEAVY DUTY 2-BOLT ‘D’ BRACKETS (FOR OPTIMAST SIGN POLES)

CODE DESCRIPTION QTY (BOX)

OPTIFIXING219 HEAVY DUTY S/STEEL 2-BOLT ‘D’ CLIP WITH RUBBER INSERT 50
FOR 219 OPTIMAST POLE

CODE DESCRIPTION

M10-50T-SET M10 X 50MM MECHANICALLY GALVANISED TEE BOLT & HEX NUT

244 OPTIMAST FRANGIBLE MAST C/W BASE PLATE

244 POLES & BASE PLATE

CODE DESCRIPTION

OPTI244X8000 244MM OD X 8M ALUM SIGN MAST POLE, C/W FITTED CAP & BASE PLATE
OPTI244X7500 244MM OD X 7.5M ALUM SIGN MAST POLE, C/W FITTED CAP & BASE PLATE

HEAVY DUTY 2-BOLT ‘D’ BRACKETS (FOR OPTIMAST SIGN POLES)

CODE DESCRIPTION QTY (BOX)

OPTIFIXING244 HEAVY DUTY S/STEEL 2-BOLT ‘D’ CLIP WITH RUBBER INSERT 50
FOR 244 OPTIMAST POLE

CODE DESCRIPTION

M10-50T-SET M10 X 50MM MECHANICALLY GALVANISED TEE BOLT & HEX NUT

Page 26 | Product Catalogue



Signfix

A U S T R A L I A

127 ANCHOR CRADLE AND FOUNDATION STUD SET

wuwipyoL

=
Top of Foundation ==

32mm
-

wuwolLy

M16FBS

1
S

127 ANCHOR CRADLE

CODE DESCRIPTION

OPTI127ANCRADLE

27MM OD ANCHOR CRADLE ASSEMBLY C/W 4 X M16 FOUNDATION
OCKETS

M16 FOUNDATION BOLT SET C/W 16 X M16 HEX NUTS,
4 XM16 X 136MM STUD AND 8 X M17 X 45 X 6 S/S WASHER

ITEM NO.

PART NUMBER

ﬁ ]

M16 HEX NUT

2

M16 X 136 STUD

3

M17 X 45 X 6 WASHER

168 ANCHOR CRADLE AND FOUNDATION STUD SET

168 ANCHOR CRADLE

wweLy

M20FBS

CODE DESCRIPTION

OPTIT68ANCRADLE

168MM OD ANCHOR CRADLE ASSEMBLY C/W 4 X M20 FOUNDATION
SOCKETS

M20 FOUNDATION BOLT SET C/W 16 X M20 HEX NUTS,
4 X M20 X 156MM STUD AND 8 X M21 X 50 X 6 S/S WASHER

ITEM NO.

PART NUMBER

ﬁ7 1

M20 HEX NUT

2

M20 X 156 STUD

3

M21 X 50 X 6 WASHER

Page 27 | Product Catalogue



Signfix

AU S T R A L I A

FRANGIBLE SIGN SUPPORT SYSTEMS | OPTIMAST® PRODUCTS

219 ANCHOR CRADLE AND FOUNDATION STUD SET

wwolLL

Top of Foundation

40mm

Mast Base Plate

wwely

OPTI219ANCRADLE

M20FBS

219 ANCHOR CRADLE

CODE DESCRIPTION

219MM OD ANCHOR CRADLE ASSEMBLY C/W 4 X M20 FOUNDATION
SOCKETS

M20 FOUNDATION BOLT SET C/W 16 X M20 HEX NUTS,
4 X M20 X 156MM STUD AND 8 X M21 X 50 X 6 S/S WASHER

ITEM NO.

PART NUMBER

ﬁ, T

M20 HEX NUT

2

M20 X 156 STUD

3

M21 X 50 X 6 WASHER

244 ANCHOR CRADLE AND FOUNDATION STUD SET

244 ANCHOR CRADLE

wwiZeL

Top of Foundation

wwsLy

Mast Base Plate

M24FBS

OPTI244ANCRADLE

244MM OD ANCHOR CRADLE ASSEMBLY C/W 4 X M24 FOUNDATION
SOCKETS

M24 FOUNDATION BOLT SET C/W 16 X M24 HEX NUTS,
4 X M24 X 185MM STUD AND 8 X M25 X 60 X 8 S/S WASHER

ITEM NO.

PART NUMBER

aree————r- 1

M24 HEX NUT

2

M24 X 186 STUD

3

M25 X 60 X 6 WASHER

Page 28 | Product Catalogue



OPTIMAST SIGN FIXING

Sign installation must take place
immediately after the mast has been
installed.

The Optimast heavy duty 2-bolt D brackets
with rubber insert, M10 x 50T bolt and nut
must be used when attaching the sign.

When the sign is mounted in the current
position, the fixings are to be tightened to
the correct torque settings of 18 Nm.

We advise threads to be lubricated with
Rocal anti-seize stainless lubricant or
similar.

.l

Signfix

A U S TR A L I A

Page 29 | Product Catalogue



AAAAAAAAA

FRANGIBLE
SIGN SUPPORT
INSTALLATION

aaaaaaaaaaaaaaaaaaaaaaa






Signfix

AU S T R A L I A

FRANGIBLE SIGN SUPPORT INSTALLATION | SIGNFIX INSTALLATION

SIGNFIX INSTALLATION

1. GROUND WORK
1.1 Excavate the hole

For multi-pole installations, start with the pole closest
to the curb.

Foundations should be excavated to a minimum diameter
of 400mm’ and a depth equal to the ground sleeve length.

Remove all loose debris from the footing before
pouring concrete.

1.2 Pour concrete
Concrete must be a minimum strength of 28Mpa.

Pour 100mm of concrete into the footing then bed the sleeve
base into the centre of the footing, ensuring the embedment
depth line is at ground level. The top of the sleeve will be
50-90mm above ground level, depending on sleeve size.

The trilobular locking bolts must face the oncoming traffic.

Ensuring the sleeve remains perpendicular and centred
with a spirit level, pour concrete around the sleeve to the
embedment depth line.

The ground sleeve may float vertically up during this
concrete pour. To prevent this, maintain downward pressure
on the sleeve to ensure the correct position is maintained
above ground.

Once the kerbside sleeve is in place, repeat the process P
with the remaining sleeves. .-

Once all the sleeves are installed, cover and leave concrete
to cure for 24 hours.

' Diameter of excavation may differ by engineer’s recommendations and state road authority specifications.

Page 32 | Product Catalogue




2.2

23

ALUMINIUM POLE INSTALLATION
Pole insertion

Line up the flute patterns of both the ground sleeve seal
and aluminium pole, then push the ground sleeve seal
approximately 10mm over the base of the aluminium pole
(the end closest to the pre-cut post restraint bolt holes).

Align the seal flange with the locking bolts, then slide the
pole into the ground sleeve. The ground sleeve seal will slide
up the pole into the correct position once the pole reaches
the base of the ground sleeve.

Ensure the restraint holes in the ground sleeve line up with
the corresponding post restraint bolt holes in pole.

The correct placement will also result in the pole shear holes
aligned to the post restraint holes in the sleeve.

Transition shoe insertion

Insert the transition shoe by lifting the aluminium pole 100m
out of the ground sleeve and insert the transition shoe so that
the lip is sitting flush with the top of the ground sleeve and
on top of the locking bolts.

Lower the aluminium pole back into the ground sleeve, lining
up the centre groove in the transition shoe with a flute in the
aluminium pole.

This will ensure the transition shoe is a snug fit between the
ground sleeve and aluminium pole.

Retention bolt assembly installation

Place a nylon washer onto the M12 stainless steel bolt head
and insert the bolt through the hole to the other side of the
ground sleeve.

Locating the thread end of the bolt, fit a nylon washer &
kinmar lock nut onto the thread and tighten to 10-12 Nm
torque with the kinmar socket.

Signfix

A U S T R A L I A

Page 33 | Product Catalogue



Signfix

AU S T R A L I A

FRANGIBLE SIGN SUPPORT INSTALLATION | SIGNFIX INSTALLATION

SIGNFIX INSTALLATION

2. ALUMINIUM POLE INSTALLATION (cont.)
2.4 Fasten transition shoe & insert shear hole bung plugs

Using the trilobular spanner or trilobular key, tighten the
sleeve locking bolts to 10-12 Nm torque.

Push both bung plugs into the pre-cut shear holes located
on each side of the fluted aluminium pole and just above
the ground sleeve seal.

3. INSTALL THE SIGN ONTO ALUMINIUM POLE ASSEMBLIES
Cut aluminium poles to required size.

Fit poly caps to aluminium poles.

Page 34 | Product Catalogue



Signfix

A U S TR A L I A

NB. Drawings are not to scale, and used for illustrative purposes only.

Page 35 | Product Catalogue



sSignfix

A U S T R A L I A

FRANGIBLE SIGN SUPPORT INSTALLATION | OPTIMAST INSTALLATION

OPTIMAST INSTALLATION

1. GROUND WORK

1.1 Excavate the trench
Using suitable equipment, excavate the trench to the dimensions
specified by the independent scheme designer.

1.2 Secure anchor cradles
The anchor cradle must be securely suspended in the foundation in its
final position.

Level and align prior to concreting the foundation. This is usually achieved
by nailing or screwing the template board to timbers spanning across the
excavation or the foundation shuttering.

The underside of the removable template board is to be set to the top of
concrete level. The template board should be checked with a spirit level
to ensure it is level and the arrangement checked to ensure it is robust
and rigid before concreting.

1.3 Pour concrete
Anchorages and baseplates of the masts should be exposed and not buried
under soil. The top of the concrete foundation should be level or not more
than 50mm above the surrounding ground or paving to prevent the underside
of errant vehicles catching on the concrete before hitting the sign mastin a
vehicle impact. The concrete must be mechanically vibrated to ensure that
all air pockets and voids are eliminated from the foundation concrete.

Signfix recommends minimum concrete grade of 28MPa. However, the final
design is the responsibility of the scheme designer.

Immediately after concreting the bolt position the alignment should be
re-checked to ensure the anchor cradles have not moved.

The template boards may be removed the day after concreting but the
temporary/disposable bolts should be retained to protect the anchor socket
threads until the sign mast can be erected.

Masts and sign plates should not be erected until the contractor is satisfied
the concrete has reached a cube strength of 28MPa. To erect masts earlier after
concreting, stronger concrete can be used to shorten the time needed

to achieve the 28MPa cube strength.

Page 36 | Product Catalogue




Signfix

A U S T R A L I A

2. ERECTION OF THE OPTIMAST ONTO THE ANCHOR CRADLES
2.1 Insert foundation studs into anchor cradle socket

Remove any debris from around the anchor and check the concrete for high spots that may prevent the mast from seating correctly
on the bolts.

Remove and dispose of the temporary/disposable bolts and the template board.
Grease anchor studs and the internal threads of the anchorage sockets threads with Rocol anti-seize stainless lubricant or similar.

Screw the 4 studs by hand into the anchor socket as per the table below.

Bolt insertion depths:

Mast Type Stud Diameter  Length in socket

Length in socket P N
127 M16 32mm B "
168 M20 40mm
219 M20 40mm ’m’ "
244 M24 48mm S

Maximum height of exposed thread:

Mast Type Stud Diameter  Exposed thread length
Exposed thread length

127 M16 104mm < >
168 M20 116mm
219 M20 116mm m
244 M24 137mm

2.2 Fitting the Optimast

Screw one stainless steel nut down each stud until they lock tight onto each
socket in the concrete. Tighten each nut with a spanner but do not apply excess
torque, this will prevent the stud from turning during subsequent operations.

Screw a second stainless nut down onto each stud until they are all
approximately 3 mm above the first nut. Check across all four second stainless
nuts with a spirit level and adjust by screwing up or down until all four nuts are
precisely level to create a level bed for the mast base plate. yy

Apply to each stud a stainless-steel washer.

Lower the mast onto the studs, taking care not to damage the threads. o/

Page 37 | Product Catalogue



sSignfix

A U S T R A L I A

FRANGIBLE SIGN SUPPORT INSTALLATION | OPTIMAST INSTALLATION

OPTIMAST INSTALLATION

2. ERECTION OF THE OPTIMAST ONTO THE ANCHOR CRADLES (cont.)
2.3 Securing the Optimast

Apply a stainless-steel washer to each stud, then a third stainless steel nut and
hand-tighten. Check the base plate is fully seated on all four studs and the
mast is vertical. If not, slacken off third stainless steel nut and adjust the nuts
under the baseplate. Hand-tighten the nuts on top again and re-check.

When you are satisfied that the mast is vertical and fully seated, tighten the
third stainless steel nut to the recommended torque using a torque wrench.
See below table for torque settings.

The nuts below the baseplate should be checked to ensure they do not rotate
and if necessary, an open ended spanner should be used to prevent any rotation.

Apply a fourth stainless steel nut to each stud and tighten to the torque
recommended using a torque wrench. See below table for torque settings.

Screw the first stainless steel nut touching the concrete/socket up against
the second stainless steel nut under the base plate and firmly tighten with
an open ended spanner.

Re-check the mast is vertical using a suitable measuring device.

Torque wrench setting for foundation bolt sets:

Stainless Steel Nut

Stainless Steel Nut

/ Stainless Steel Washer

~— Mast Base Plate

. Foundation Torque Torque
Optimast . . . .
studsizeand  applied tothird  applied fourth Fourth Nut
type .
material nut Nm nut Nm
Third Nut
127 M16 A4-80 187 94
1 68 & 21 9 M20 A4-80 364 1 82 Second Nut
First Nut
244 M24 A4-80 629 315

\

Stainless Steel Washer

Stainless Steel Nut

Stainless Steel Nut

Anchor Stud

Page 38 | Product Catalogue



Signfix

Page 39 | Product Catalogue



sSignfix

A U S T R A L I A

FRANGIBLE SIGN SUPPORT INSTALLATION | WIND CHARTS




Signfix

A U S T R A L I A

AUSTRALIAN WIND REGIONS 42
SIGNFIX - REGION A (<16M? SIGNS) 43
SIGNFIX - REGION B1 (<12M? SIGNS) 44
SIGNFIX - REGION B2 (<12M? SIGNS) 45
SIGNFIX - REGION C (<10M? SIGNS) 46
OPTIMAST - REGION A1 (<10M? SIGNS) 47
OPTIMAST - REGION A2 (<28M? SIGNS) 48
OPTIMAST - REGION A3 (<40M? SIGNS) 49
OPTIMAST - REGION B1.1 (<10M? SIGNS) 50
OPTIMAST - REGION B1.2 (<28M? SIGNS) 51
OPTIMAST - REGION B1.3 (<40M? SIGNS) 52
OPTIMAST - REGION B2.1 (<10M? SIGNS) 53
OPTIMAST - REGION B2.2 (<28M? SIGNS) 54
OPTIMAST - REGION B2.3 (<40M? SIGNS) 55
OPTIMAST - REGION C1 (<10M? SIGNS) 56
OPTIMAST - REGION C2 (<28M? SIGNS) 57
OPTIMAST - REGION C3 (<40M? SIGNS) 58

Page 41 | Product Catalogue



AUSTRALIAN WIND REGIONS

oS
1¥vgOoH
¥V uoibay
uojsaosuneT
0P A“u Q
Buojpean
oles Jeseleg

lsplog sjeis )
wy omJ’H" ANHNOGTIN = oBipusg

Buobuojjop
oG€ u 002

Ja1qWED JUNO

ZV uoibay TaNAAS ebbep ebbem 3aiviaav 88
cy/ Vdd3dNVO /
a)seomaN eanpi eunpa)
2V uoibay !
pue|ls| amoH pio] ejsnbny od
Jyiomwe] . Gy uoibay
o0€ aynog BJOWOOAN
Lg uolbay .
puejs| 3|opoN puLOD
91604y
3ANVESIdd
equooMoo]|
19 uoibay
w002 0v uoibay
1414
Biagepung elsong
29 uoibay
wm:_._am.wo__<
d ! !
HordtiEtpRoY 3|lIAsul|[0D
Rexoel es| Junol\
0z | ° NEET e}
° 3||IASUMOL uojuewoN «jueuus|
umojaying
uopayY
eunununyy
e|oojoliog
sullen
o169 .

O uoibay equiniey| Jony
egasiel aplejepy
uojaIop

39919 ||oUUOTOIN
obb
Z9 uoibay 9 uoibay
AnquninyN
29 uoibay el

Spue|s| Jlesns sallo]

—

Spiepuels ueljesIsny Mau syl Ui paldidap se suoibay puip i ainBiy

SpJepUR)S UBIjRIISNY MU 3Y} Ul Pa3DIdap se suoifiay puip) :L 24nbi4

'1SE09 JuddE(pe

ay) se uoibal swes ay} ul payeubisap ale
1SBOO 8} JO W)f OG UIYIM SpUBS|

"Wy 00Z PUB 0S) ‘001 ‘0§ NQ auljseod
payjoows e woJj Ul }8s saul| Yjoows

ale salepunoq uolbal |elseo)

‘que D ‘zg ‘19 (GV 01 0Y) V

SJ9)I9| 8Y) YIm payew aie suolbay

Aueqiy LV uoiBey

oSTh mor_mhm%m_\/

ali006|ey] :

wX 00¢

swooig
AqleQ
aoyuen|

(D) weypuAp

NIMAVd

Z9g uoibay

Hld3d
peaH
uaal
9 °0€
Wi 00V uojp|ess)
EMEIO| 29 uoibay
ems|ini\ olZ
sbuudg eueyif|en :
0GC
uopounp aukooses)
uonJeuse)
9 uoibay ynowxg
weans|iIn a uoibay
WOOUSHIAA «
MO[SUQO
002
pue|psH 1od eyjeuey|

9 uoibay

Quobey o
spue|s| S000)

zquoibey
pue|s| sewjsuyd

Page 42 | Product Catalogue



SIGNFIX > WIND REGION A

Page 43 | Product Catalogue



SIGNFIX > WIND REGION B1

Page 44 | Product Catalogue



SIGNFIX > WIND REGION B2

Page 45 | Product Catalogue



SIGNFIX > WIND REGION C

Page 46 | Product Catalogue



OPTIMAST > WIND REGION A1 (<10M?)

0l

(=]

(==

2W(g X ) ¥IHY N9IS

~

9

<
o
o~
—

¢0l

¢0l

¢0l

¢0l

[4us

yxqs

rqt

prat

Lcl

el

891

891

891

891

891

6le

=0 —

00V = —

00=H—
oomﬂ%

—

\

—

\H
_—

\
\
A

W

(]%4

6l

6l

6l¢

1444

QuBY " ——

— =
oomwz\/\

S X

T

———
\\
\\
\
_—

| —
L —
\\
\

\

(424

"NOILYWHO4NI TYOINHO3L TYNOILIAAY ¥04 TYNNYIN LONAOHd LSYWILJO IHL OL ¥343d '8
“SANINAIND ALIYOHLNY 31VLS HLIM FONVJH000Y
NI'SI ONY NOILVLOY S1SIS3Y INJWHOVLLY NOIS FHL IH3IHM a3SN 39 AINO LSNIN SLHOddNS NOIS 1SOd FT1ONIS *L
N9y = ¥¥Z LSYWILJO/61Z LSYINILJO/89) LSYINILAO 'WY'E = LZb
LSYIILAO :(8+H) SLHOIFH LSO INNINININ ONIMOTIOH JHL HLIM ATdWOD OL SI AYLINOIO NOIS FHL ALIIGIONVA
¥04 3SN 40 SNOLLIANOD T¥OINHOTL A3A0HddY FHL HLIM ATdNOD OL 34V S3ITENISSY FOVNOIS IHIHM 9
"1SOd 1331S ¥3L3NVIA JNYS FHL

2/d+H=(WW) H o1318v0Nddv S3ZIS ONILOOS 35N "SIZIS ONILOO4 ¥O4 SNOIS QYOY 04 3AIND NOISIA ANYTSNIIND OL ¥3ATY '

14

€

¢

S1S0d 40 ON

SRR

€'V ANY 2V SLYVHO OL ¥3434 'SNOIS ¥IOHV1HO4
‘310d
TYNOLLIAQY NV O dN 3ZIS 1SOd LX3N 40 NOILOTTIS HLIM SLHYHO 3SN ‘SNOLLYNLIS TYWHON NYHL SNOQYVZYH
JHOW SI 3SAYTI00 LSOd THIHM ¥O (2 AYODILYO NIVEYIL Z'024SY) STIHL QILYTI0S! ONYISSYHO N3O SY HONS
$Q33dS ANIM ¥3HOIH OL INO¥Hd SNOILYO0T @3SOdX3 NI SNOIS H04 ‘(€ AHOOILYD NIVHY3L 2'0241SY) 1STH04
3SNIA YO SYIUY VIHLSNANI 'ONISNOH NvgHNaNS SY HONS NIVHYIL A3AT3IHS ATIVILYYd NO 03SV8 34V SLYVHO -
"1S0d LS3TIVL 3HL 40 LHOIFH = H ANNOYO NIAINN NO -
‘2°0L11SY NO¥4 A3AI¥3A ISOHL NYHL 3ONYA330X3 40 ALIIEYE0dd ¥3HOIH
JAVH HOIHM SNOIS AYOY ¥04 301N NOISIA ANYISNIIND FHL NI 431dOAY SIS ANIM NOISIA NO a3Sve FuvY
S1Y¥VHO NOIS3A 3STHL 'SLHVYHO NOISAA FHL 40 3d0IS 3HL 3AISLNO SL¥OddNS NOIS ¥O4 S3AIND ALIMOHLNY
31VLS INVAIT3H OL HO 2'ZvZL SY OL 43434 "AITYA LON 3V SLHVYHO NOISIA ISTHL ‘SAVOY NIV ANY LHOdSNYHL
40 INIWLYYEIA LINFWNYIAOO ANYISNIINDO FHL 40 NOLLOIASINM IHL NIHLIM G3L¥D0T LON SNOIS ¥04
S31ON

~

o o

S1S0d LSYWILAO

2WOL = (9 X V) VIV N9IS -V NOI93Y - S1S0d 1SYINILLO - 'Y LHVHI

Page47 | Product Catalogue



OPTIMAST > WIND REGION A2 (<28M?)

8¢

2W(g X ) Y34y N9IS

Le 9¢ G¢ 149 €¢ 44 (44 4

6}

8l LI 9l Gl 148 €l 4" M

0t

1Y LdYHI H3434

c0t

¢0l

c0l

181

L2l

Lel

Lel

891

891

891

891

891

61¢

61¢

6le

61¢

61¢

wieH | ——

vve

[ veo -

| | 00Lg=H — |

1444

1444

444

(444

— ooee=H | ——

—T Oomm =H ] —T

_— Oom< = _1\ _—

— oo«m“,ﬁ | _—

"NOILYWHOANI T¥OINHOAL TYNOILIAAY ¥O4 TYNANYIN 1ONA0YHd LSYINILJO 3HL OL Y3434
"SININ3AIND ALIJOHLNY 3LVLS HLIM 3ONYAH0IIY
NI'SI NV NOILVLOY S1SIS3d LINJWHOVLLY NOIS 3HL 343HM 3SN 38 ATNO LSNIN S140ddNS NOIS 1SOd FT1ONIS

Ty

14

€

14

$1S0d 40 'ON

SRR

2/8+H=(ww) H

W9 = ¥¥g LSYWILAO/6LZ LSYINILJO/89L LSYWILAO ‘W'T =
12} LSYINILAO :(@+H) SLHOIFH LSOd WNIININ ONIMOTIOH FHL HLIM ATdWOO OL SI AYLINOIO NOIS FHL ALITIGIONYHA

¥04 38N 40 SNOILIANOD TvOINHOAL 03A0HddY FHL HLIM ATdNOD OL 34V S3ITENISSY JOVNOIS TdTHM

1S0d 7331S ¥313AVIA JNVS FHL

01 318Y0I1ddV $3ZIS ONILOO4 3SN "S3ZIS ONILOOH ¥O4 SNOIS A¥Od 404 3AINO NOISIA ANYISNIIND OL ¥343y
"€V LYVHO OL ¥343Y 'SNOIS ¥3DHYT L'V LYVHO OL Y343 'SNOIS ¥ITIVINS 04

‘310d

TYNOILIQY NY 4O dNn 3zIS LSOd LX3N 40 NOILOF T3S HLIM SLHVYHO 3SN ‘SNOILYNLIS TYINHON NYHL SNOQyYZYH
FHOW S 3SdVT100 LSOd FHFHM HO (2 AYOOILYO NIVHYIL Z'021LSY) STTHL AILYTIOS! ‘ANYISSYHO N3O SY HONS
$A33dS ANIM ¥3HOIH OL INO¥ SNOILYO0T A3SOdX3 NI SNOIS ¥04 (€ AMOOILYO NIVHYIL Z0LLSY) LSTHO4
3SNIQ YO SYFHY WVILSNANI ‘ONISNOH NYEINENS SY HONS NIVHYIL A3AT3IHS ATTVILYYd NO A3SVE 34V SLYVHO
"LSOd 1S3T1VL 3HL 40 LHOIFH = H ANNOYO NIAINN NO

"C’0L11SY NO¥4 A3AIY3A ISOHL NVHL JONYAI30X3 40 ALMIEYE0Yd

Y¥3IHOIH AVH HOIHM SNOIS AYOY ¥04 3dIND NOISFA ANYISNIIND IHL NI d3Ld0AV SA33dS ANIM NOIS3IA NO
3SY4 34V S1¥VYHO NOIS3A 3STHL "SLAVHO NOIS3A 3HL 40 3d00S FHL 3AISLNO S1H0ddNS NOIS ¥O4 S3AINS
ALIMOHLNY 3LVLS INVATTIY OL HO Z'2v.L SY OL ¥3434 "AIVA LON 34V SLHVHO NOISIA ISIHL 'SAVOY NIV ANV
L1HOdSNVYL 40 INFNLHYHIA LINFJANYIAOD ANVISNIIND 3HL 40 NOLLOISIINr IHL NIHLIM d31vO0T LON SNOIS 404

£

~

©

~ 0

o o

b

S3L1ON

S1S0d 1SYINILdO

:WgZ = (4 X V) YIHY NIIS ¥V NOI93Y - S1SO0d LSVINILAO - 2'V LHYHI

Page 48 | Product Catalogue



L€

9€

2W(g X ¥) v3Yy N9IS

ve

143 e 0€ 6¢

"¢’V 14VYHO 43434

Lcl

el | g91

LeL

6l

891

891
6l

891

1444

6l¢

1%

(444

6l

v

144

v

00€E=H
I S—

006e=H

006y =H

14 € [

$1S0d 40 'ON

- v

2/8+H=(ww) H

NOILYWHOANI TYOINHOTL TYNOILIAAY HO4 IWNNYIN LONAOYHd LSYINILHO 3HL OL ¥343d '8
'SINIT3AINS ALIOHLNY FLVLS HLIM FONYAHOIIV NI SI ONY
NOILVLOY S1SISFH LNIWHOVLLY NOIS JHL 3Y3IHM d3SN 38 AINO LSNIN S140ddNS NOIS 1SOd FT1ONIS L
N9t = ¥¥Z LSYINILJO/6}Z LSYINILAO/89L LSYWILAO 'WY'C = 22} LSVINILJO
(@+H) SLHOIFH LSO INNINININ ONIMOTIOL JHL HLIM ATdINOD OL ST AYLINOIO NOIS THL ALITIGIONVYA
¥04 3SN 40 SNOLLIANOD TvIINHOAL AIAOHddY 3HL HLIM ATdNOD OL 3dY S3ITENISSY FOVYNOIS FHIHM "9
'1SOd 1331S ¥313NYIA VS 3HL OL 318v0INddY
S37IS ONILOO4 38N "S3ZIS ONILOOS ¥O4 SNOIS AYOY 04 3AIND NOISIA ANYISNIIND OL ¥343Y 'S
TV ANY L'V SLHVHO OL 43434 'SNOIS I TIVINS HO4
'370d T¥YNOILIAAY NY ¥O dN 3ZIS 1SOd LX3N 40
NOILO3 T3S HLIM SLYVHO 3SN ‘SNOILYNLIS TYWHON NVHL SNOQYVZYH FHOW SI 3SdVT100 LSOd FHIHM
HO (2 AHO9ILYO NIVHYIL Z02LLSY) STFUL ILYT0SI ‘ANYISSYHO N3O SY HONS SFIAS ANIM ¥IHOIH
0L INO¥d SNOILYO0T A3SOdX3 NI SNOIS H04 (€ AYO9ILYD NIVHYIL 2'0241SY) LSFHOL ISNIA ¥O
SY3YVY VIHLSNANI ‘ONISNOH NYEHNENS SY HONS NIVYYIL A3ATIIHS ATIVILYYd NO A3SYE 34V SLHVHO '€
'1S0d LS3TTVL 3HL 40 LHOIFH = H ANNOYO N3IAINN NO
TOLLLSY
INOY4 G3AI¥3A ISOHL NYHL JONVAIIOX3 40 ALINIGYE0Hd ¥3HOIH IAVH HOIHM SNOIS AVOd ¥04 3aIN9
NOIS3d ANYISNI3NO JHL NI d31d0AY SA33dS ANIM NOISIA NO 03SYE 3oV S1¥VHO NOISIA 3STHL
S1dVHO NOIS3A 3HL 40 3d03S FHL 3AISLNO S1¥0ddNS NOIS HO4 S3AIND ALIJOHLNY 31VLS INVATIT1IY
OL YO T'zrll SY 0L ¥343Y "AIVA LON 34V SLYVHO NOISIA ISIHL 'SAVOY NIV ANV LYOdSNYL 40
INFNLYYHIA INFANYIAOD ANYISNIIND FHL 40 NOLLOIASIINr IHL NIHLIM d3LVO0T LON SNOIS HO4 )
S310N

~

o~

OPTIMAST > WIND REGION A3 (<40M?)

S1S0d LSYINILdO

WO0Y = (4 X V) YIHY N9IS ¥ NOI93Y - SLSO0d LSVINILAO - €'V LHYHI

Page 49 | Product Catalogue




OPTIMAST > WIND REGION B1.1 (<10M?)

0l

2W(g X v) V3HY N9IS
8 L 9 g 4 €

o~
—
o

LeL

Lel

gt

L2l

Lel

|
|
1

891

891

891

891

891

6l

6l¢

6l

6l¢

6l

\

l244

vve

e

vve

iz=H

Y

(o

“NOILYWHOANI TYOINHO3L TYNOILIAAY ¥O4 TYNNYIN LONAOY LSYWILHO 3HL 0L ¥343d 0L
w9y = ¥z LSYWILJO/BLZ LSYWILDO/89} LSYINILO ‘Wy'T =

L2} LSYWILO :(@+H) SLHOIZH LSOd INNWINIW ONIMOTIOS 3HL HLIM ATdWOD OL SI A4LINOIO NOIS FHL ‘ALIIGIONYHS
¥04 38N 40 SNOILIANOD T¥OINHOAL A3A0HddY IHL HLIM ATdNOD OL 34V SAITENISSY FOYNOIS FdIHM 6

'S3NM3AIND ALIMOHLNY 31VLS HLIM 3ONVAY0I0V
NI'SI ANV NOILY.1OY S1SIS3d INJWHOVLLY NOIS IHL F¥IHM a3SN 38 ATNO LSNIN SLH0ddNS NOIS LSO ITONIS '8

w9y = vz LSYWILJO/BLZ LSYIILDO/8I} LSYINILO ‘Wy'E =

L2} 1SYWILO :(@+H) SLHOIZH LSOd INNWINIW ONIMOTIOL 3HL HLIM ATdWOD OL SI A4LINOIO NOIS FHL ‘ALIIGIONVYS
¥04 38N 40 SNOILIANOD TWIINHOIL A3A0HddY HL HLIM ATdNOD OL MV SIITENISSY JOVNOIS FdIHM 'L

"30IAQY NOISTA 04 ¥3IMddNS LOVINOD

X6 NVHL ¥3LY34O SI V 41 .8, NOISNINIA STWLL (5) IAI4 NYHL JHOW ON SI ¥, NOISNIWIO LYHL JWNSSY SLAVHO 9
= (ww) H '1S0d 133LS ¥ALINVIA INVS

3HL 0L 378Y0ITddV S3ZIS ONILOOS 3N 'SIZIS ONILOO ¥O4 SNOIS QYOY HO4 3AIND NOISIA ANVISNIIND OL ¥I4d 'S

€18 ONY 7'18 SLYVHO OL ¥3434 ‘SNOIS ¥39¥V1 ¥04

I10d

TYNOILIOQY NY HO dN 32IS 1SOd LX3N 40 NOILOTT3S HLIM SLYYHO 3SN ‘SNOILYNLIS TYWSON NYHL SNOTHYZYH

HOW SI 3SdYTI00 1S0d FHIHM HO (2 AMODALYD NIVHYIL 7021 1SY) STIML GILYIOSI ‘ONYISSYHO N3O SY

~

14

€

4

HONS SA33dS ANIM ¥3HOIH OL INO¥d SNOILYD0T G3SOdX3 NI SNOIS HO (€ AHODILYD NIVHYIL 2'024SY) 1SFH04
3ISNIA HO SYFHY YIILSNANI ‘ONISNOH NVEYNENS SY HONS NIVYY3L G3ATIIHS ATIVILYYd NO 43SVE 34V SIMVHO ¢

"1S0d 1S3T1VL 3HL 40 LHOIFH = HANNOYO NIAINNNO 2
‘T°0L11SY WO¥4 G3AIM3A 3SOHL NVHL 3ONVYA330X3 40 ALIIEYE0Hd
v YIHOIH IAVH HOIHM SNOIS av0Od ¥04 3AIND NOISIA ANVISNIIND FHL NI 3LdOAV SA33dS ANIM NOIS3A NO a3sve

FdY SL¥VYHO NOIS3A ISIHL 'SLYVYHO NOISAA FHL 40 3d0IS FHL FAISLNO SLHOANS NOIS 04 S3AIND ALKMOHLNY
31VLS INVAIT3Y4 01 ¥0 2'ZrL) SV OL ¥343Y "QITVA LON 3V SLHVHO NOIS3A ISTHL ‘'SAVOY NIV ANV LHOdSNYHL

$15S0d 40 ON

40 INFWLHYdIA INFWNYIAOD ANYISNIIND IHL 40 NOILIIASIING FHL NIHLIM A3LYO0T LONSNOIS¥O4 '}

S1S0d LSYINILAO

0L = (89X V) VIHY N9IS 119 NOI93Y - SLSOd L1SYINILJO - 1’19 1HVHI

Page 50 | Product Catalogue



(g X ) Y3V N9IS
82 92 ve 44 0z 8l 9l 14} 41 ot

119 L1dVYHO 01 ¥343d

OPTIMAST > WIND REGION B1.2 (<28M?)

L3l

gt

xqs

891

891

891

891

891

6l

6l¢

6lc

6l¢

6le

vve

vve

vve

1444

e |

—

ooz =H

PRE——

ooe=H

o0 = H

o0y =+

nols=H

v

€

4

$1S0d 40 'ON

e

“NOILYWHOSNI TYOINHOIL TYNOLLIdAY ¥04 TYNNYIN LONAOYd LSYIILO JHL OL ¥343d

wo'y = ¥Z 1SYNILO/61Z LSYINILDO/89) LSYINILHO

‘Wy'Z = /2) LSYWILO :(8+H) SLHOIFH LSO WNINININ ONIMOTIOH 3HL HLIM ATdWOD OL SI AYLIWOIO NOIS FHL
‘ALINIGIONYYS 304 3SN 40 SNOILIANOD TYOINHOIL AIAO¥ddY FHL HLIM ATdINOD OL 34V SIITENISSY FOVNOIS FHIHM
"SANIT3AIND ALIMOHLNY 3LVLS HLIM JONYA¥0IIY

NI'SI NV NOILY.LOY S1SISTH INIWHOVLLY NOIS 3HL F4IHM A3SN 38 ATINO LSNIN SLH0ddNS NOIS 1SOd I1ONIS

w9y = vz LSYNILJO/BIZ LSYINILJO/89} LSYINILJO

‘Wy'Z = L2} LSYINILO :(8+H) SLHOIIH LSOd WNWININ ONIMOTIOH FHL HLIM ATdINOD OL SI AYLIW03O NOIS FHL
‘ALINIGIONYYS 404 3SN 40 SNOILIANOD TYOINHOIL A3AO¥ddY FHL HLIM ATdINOD OL 34V SIITENISSY FOVYNOIS FHFHM
"30IAQY NOIS3A ¥O4 ¥3IddNS LOY.INOD

GG NVHL ¥3LV349 SI'V 41 .8, NOISNINIA SINIL (S) FAI4 NYHL FHOW ON SI ¥, NOISNIWIQ LYHL JNNSSY SLYYHO

1S0d T331S ¥313NVIA JNYS

3H1 01 378¥0I7ddV S3ZIS ONILOOH 3SN "S3ZIS ONILOO4 ¥04 SNOIS AVOd ¥04 3AINO NOISTA ANVISNIIND OL ¥343d
€19 SLYVYHO OL Y3434 ‘SNOIS ¥3OUYTHO4 1’18 SLYVHO OL ¥343Y 'SNOIS ¥ITIVINS HO4

"370d TYNOILIAAY NV ¥O dN 32IS 1SOd LX3N 40 NOILOF T3S HLIM SLYVYHO 38N ‘SNOILYNLIS TVNHON NYHL

SNOAYYZYH FHOI SI 3SdVT100 LSOd FHIHM HO (2 AHO9ILYO NIVHY3L 2'0241SY) SITYL GILYIOS! ‘ANYISSYEO N3dO
SY HONS S033dS ANIM ¥3HOIH OL INOYd SNOILYD0T 03SOdX3 NI SNOIS HO ‘(€ AODILYO NIVHYIL Z04}LSY) LSTHOS
3ISNIA MO SYIHY TVIMLSNANI ‘ONISNOH NvadNENS SY HONS NIVYYIL 3ATAIHS ATIVILYYd NO 43SvE FuV SL¥VHO
"1S0d 1S3T1VL 3HL 40 LHOIZH = H ANNOYO NIAINN NO

¢'0L11SY NOY4 03AI¥3A ISOHL NYHL 3ONVJ330X3 40

ALIGYE0Yd ¥3HOIH IAYH HOIHM SNOIS 0YOd ¥04 3AIND NOISIA ANYISNIIND FHL NI 431d0AY SA33dS ANIM NOIS3a
NO Q3SVd 34V SLHVHO NOISIA 3STHL "SLHVHO NOISTA 3HL 40 3d0IJS 3HL 3AISLNO SLHO0ddNS NOIS ¥O4 S$3AIND
ALMOHLNY 31V1S INVAFT3Y O1 ¥0 2'ZrL) SV OL Y3434 "AITVA LON 34V SL¥VHO NOIS3IA ISIHL 'SAVOY NIV ANV
1¥0dSNVYL 40 INFNLHYHIA INFWNYIAOD ANVISNIIND FHL 40 NOLLOIGSINr HL NIHLIM A3LVO0T LON SNOIS ¥O4

S31ON

01

w

b

S1S0d 1SYIILdO

W8Z = (4 X y) YUV NIIS : 19 NOI93Y - SLSOd LSYINILdO - 2'19 LHYHI

Page 51 | Product Catalogue



OPTIMAST > WIND REGION B1.3 (<40M?)

U4

8¢ 9¢

(g X v) y3HY N9IS

ve

43 0¢

8¢

¢'19 1dVYHO 01 ¥343d

Lcl

pxqs

Lcl

891

891

891

891

89}

6l¢

61¢

6lc

6Lc

6lc

(424

1444

1444

1444

e

0012=H

00ee = H

0068 =H

-

006¢ = H

w0l5=H

14

€

14

S1S0d 40 'ON

e

2/a+H

W9y = vz LSYINILJO/6LZ LSYINILJO/89L
LSYIILAO ‘WY'Z = 21 LSYWILAO (@+H) SLHOIZH LSOd WNININIW ONIMOTIO4 IHL HLIM ATdWOD OL SI AYLINO3O NOIS FHL
‘ALITIFIONYYS 404 3SN 40 SNOILIANOD TYOINHOIL A3AO¥ddY FHL HLIM ATdINOD OL JdY SIITENISSY IOVYNOIS FHIHM
S3NIM3AIND ALIMOHLNY 3LYLS HLIM JONYAA00Y

NI'SI ONY NOILYLOY S1SISTFd INJWHOVLLY NOIS 3HL F4IHM 03SN 38 ATNO LSNIN SLHOddNS NOIS LSOd FTONIS

W9y =g LSYNILJO/6IZ LSYINILAO/89)

LSYWILAO ‘WH' = 121 LSYINILAO (8+H) SLHOIH 1SOd WNWINIW ONIMOTI04 JHL HLIM ATdINOD OL SI AYLINOIO NOIS 3HL
‘ALITIIONYYS 404 3SN 40 SNOILIANOD TYOINHOIL AIAO¥ddY FHL HLIM ATdINOD OL JdY SIITENISSY IOVYNOIS FHIFHM
30IAQY NOISAA ¥O4 ¥3ddNS

LOVINOO 8¥G NYHL ¥3LYIH9 SI V 41 .8, NOISNIWIA SFNIL (S) IAI4 NVHL JHOW ON SI.¥, NOISNIWIQ LYHL WNSSY SLEYHO
'1S0d 1331 ¥3LINVIA INYS

3HL 01 378¥0I1ddY S3ZIS ONILOOA 3SN "S3ZIS ONILOO4 ¥O4 SNOIS AVOd ¥O04 3AIND NOISIA ANVISNIIND OL ¥343d
‘T18 ANV 119 SLMVHO OL Y3434 'SNOIS ¥ TIVINS ¥04

"310d TYNOILIAAV NV HO dN 3ZIS 1SOd LIX3N 40 NOILOI TS HLIM SLHVHO 3SN ‘SNOILYNLIS TYINYON NYHL

SNOQYYZYH FHOW S| 3SAVTI00 LSOd FHIHM HO (2 AYO9ILYD NIVEYIL Z0LL1SY) SFFML AILYTI0SI ‘ONYISSYHO N3O

SY HONS S033dS ANIM ¥3HOIH OL INO¥d SNOILYD0T d3SOdX3 NI SNOIS HOH ‘(€ AOOILYD NIVHYIL 202} LSY) LSTHOS
3SNIA HO SYIYY TVIMLSNANI ‘ONISNOH NYgHNENS SY HONS NIVYYIL A3ATIIHS ATIVILYYd NO 43SVE JuV SLuVYHO

"1S0d 1S3TIVL 3HL 40 LHOIFH = H ANNO¥O NIAINN NO

"T°0L11SY NO¥4 Q3AIY3A 3SOHL NVHL 30NYA330X3

40 ALITI8YE0™d ¥3HOIH AVH HOIHM SNOIS AY0d ¥04 3aINS NOIS3A ANYISNIIND 3HL NI 031d0aV SA33dS

QNIM NOIS3A NO 03SVE FdV SLAYHO NOIS3A 3STHL "SLAVHO NOIS3A 3HL 40 3d0DS FHL 3AISLNO SLH0ddNS NOIS

Y04 S3AIND ALIMOHLNY 3LVLS INVAFTIY OL 4O 2'2v2) SY OL 43434 "AITVA LON JuV SLUVHO NOISIA 3SIHL 'SAVOY NIV
QNY LHOdSNVYHL 40 LINJWLYYAIA LNJWNAIA0D ANYISNIIND IHL 40 NOILJIASIMNF 3HL NIHLIM A31¥D07 LON SNOIS 04

S310N

“NOILYWHOANI TYOINHO3L TYNOLLIAAY 04 TYNNYIN LONAOYd LSYWILHO 3HL 0L ¥343d 0}

7]

)

$1S0d 1SYWILJO

WOy = (gXVY)

V3HY NIIS 19 NOI93Y - S1S0d 1SVINILHO - €18 L1HVHI

Page 52 | Product Catalogue



OPTIMAST > WIND REGION B2.1 (<10M?)

0l

©
~

2W(d X v) y3HY N9IS
9

S

<
™
V]
—

el

Lel

pxqs

Lel

L2l

891

891

891

891

891

6l¢

(%4

6l¢

6lc

6l

|

\

144

1444

vve

1444

A

-
—

70
(o

%(mu »

I
\

14

€

14

$1S0d 40 'ON

“NOILYWHOANI TYOINHO3L TYNOILIAAY ¥O4 TYNNYI LONAOY LSYWILHO JHL OL ¥343d

w9y = ¥vg LSYWILDO/BLZ LSYILDO/8I} LSYINILO ‘Wy'T =

12} LSYINILAO :(8+H) SLHOIZH LSOd WNIWINIW ONIMOTI04 FHL HLIM ATdWOD OL SI AYLIWOIO NOIS THL ‘ALITIGIONYYS
¥04 38N 40 SNOILIANOD T¥OINHOIL A3A0HddY JHL HLIM ATdINOD OL FHV SITEWISSY JOVNOIS FHIHM
'S3NIN3AIND ALIMOHLNY 3LVL1S HLIM 3ONYAH0OOV

NI'SI NV NOILY.LOY S1SIS3Y LINJWHOVLLY NOIS 3HL FH3HM 03SN 38 ATNO LSNIN SLHOddNS NOIS LSOd FTONIS

w9y = vvg LSYWILJO/BLZ LSYWILAO/89} LSYINILO ‘Wy'T =

12} 1SYINILAO “(8+H) SLHOIZH 1SOd WNIWINIW ONIMOT104 FHL HLIM ATdWOD OL SI AYLINOIO NOIS FHL ‘ALIIGIONYYS
¥04 38N 40 SNOILIANOD T¥IINHOAL 3A0HddY IHL HLIM ATdNOD OL 3uY SAINENISSY FOVNOIS FIHM

'3OIAQY NOIS3A ¥04 ¥3I1ddNS LOVINOD

€XG NVHL ¥3LY3HO SI V 41 .8, NOISNIWIA SFNIL () IAI NYHL HOW ON SI ., NOISNIWIQ LYHL JNNSSY SLYVHO

"1S0d 1331LS ¥3L3INVIA TNYS

3HL 01 378Y0IddY S3ZIS ONILOO4 3SN "S3ZIS ONILOOH 04 SNOIS AvOd HO4 3AIND NOISFA ANYISNIIND OL ¥343y
‘€728 ANV 2'28 SLYVHO OL 43434 ‘SNOIS ¥39¥V1 404

310d

TYNOILIQAY NV ¥O dN 3ZIS 1SOd LX3N 40 NOILOF T3S HLIM SLYYHO 3SN ‘SNOLLYNLIS TYWHON NYHL SNOQYVZYH
JHOW SI 3SdVT109 LSO F3HM HO (2 AOOILYD NIVHY3IL 2'0241SV) STIYL A3LYI0S! ‘ANYISSYYO N3O SY

HONS SA33dS ONIM ¥3HOIH OL INO¥d SNOILYO0T A3SOdX3 NI SNOIS ¥O ‘(€ AODILYD NIVYYIL Z'0£4SY) 1SFH04
3ISNIA YO SYIFHY YIILSNANI ‘'ONISNOH NYENENS SY HONS NIVYY3L G3ATIIHS ATIVILYYd NO 03SVE 34V SLYVHO
"1S0d 1S37VL 3HL 40 LHOIFH = H ANNOYO NIAINN NO

"2°0L11SY INOYH Q3AIM3A ISOHL NYHL 3ONVAI30X3 40 ALITIEYE0dd

Y3IHOIH IAVH HOIHM SNOIS 0YOY ¥04 3aIND NOISIA ANYISNIIND FHL NI A3LdOAY SA33dS ANIM NOIS3A NO a3sve
34V SLYVYHO NOISTA 3SFHL "SLHVHO NOIS3A JHL 40 3d0JS 3HL 3AISLNO SL¥OddNS NOIS 04 S3AIND ALMOHLNY
31VLS INVAF134 01 ¥O 2'Zr.L SY OL Y343 "AIVA LON 3V SLYVHO NOISIA ISTHL 'SAVOY NIV NV LHOdSNYHL
40 ININLHYd3A INIWNYIAOO ANYISNIIND 3HL 40 NOILIIASIMNr IHL NIHLIM A3LYO0T LON SNOIS ¥04

01

w

b

S31ON

S1S0d LSYIILAO

QL = (9 X V) V34V N9IS :28 NOI93H - SLSOd LSYINILAO - 129 LHVHI

Page 53 | Product Catalogue



OPTIMAST > WIND REGION B2.2 (<28M?)

8¢

(g X v) YUY N9IS

9¢ e [44 0¢ 8l 9l 4 ¢l 0t

1’28 L4VHO 0L ¥343d

891
Lel

891

891

891
6l¢

6l

6l

6le

6l¢
vve

1444

vve

vve

(474

PREE) \\ \

i

VAL

0068 = 1

ey = 1

or = 1

“NOILYWHOINI TYOINHO3L TYNOILIAAY ¥O4 TYNNYIN LONAOY LSYWILHO 3HL 0L ¥343d 0L
w9y = vvg LSYWILJO/BLZ LSYIILAO/89} LSYINILO ‘Wy'E =

L2} LSYWILO :(@+H) SLHOIZH LSOd NNWINIW ONIMOTIOS 3HL HLIM ATdWOD OL SI A4LINOIO NOIS FHL ‘ALIIGIONYHS
¥04 38N 40 SNOILIANOD T¥OINHOAL A3A0HddY 3HL HLIM ATdNOD OL 34V SAITEN3SSY FOYNOIS FdIHM 6

'S3NIM3AIND ALIMOHLNY 31VLS HLIM 3ONVAY0I0V
NI'SI ANV NOILYLOY S1SIS3d INJWHOVLLY NOIS IHL F4IHM 03SN 38 ATNO LSNIN SLH0ddNS NOIS LSOd ITONIS '8

w9y = vvg LSYWILJO/BLZ LSYINILDO/8I} LSYINILO ‘Wy'E =

L2} LSYWILO :(@+H) SLHOIZH LSOd NNWINIW ONIMOTIOL 3HL HLIM ATdWOD OL SI A4LINOIO NOIS FHL ‘ALIIGIONVYS
¥04 38N 40 SNOILIANOD TWIINHOIL A3A0HddY HL HLIM ATdNOD OL MV SITENISSY JOVNOIS FdIHM 'L

"30IAQY NOIS3A 04 ¥3IMddNS LOVINOD

H ¢/al+ H XG NVHL ¥3LY3YO SI ¥ 41 .8, NOISNIWIQ SFNIL (S) IS NVHL FHOW ON SI.¥, NOISNIWIQ LYHL JWNSSY SLIVHO 9
= (ww) H '1S0d 133LS ¥ILINVIA FNYS
3HL 0L 318V0ITddY S3ZIS ONILOOH 3SN '$3ZIS ONILOOH 04 SNOIS QV0Y ¥O4 3AIND NOISIA ANYISNIIND OL ¥IAFY
'£78 SLMVHO OL 43434 ‘SNOIS ¥IONYTH04 1 28 SLHVHO OL 43434 ‘SNOIS YITIVWS 804

310d

TYNOILIGQY NY ¥O dn 32IS LS0d LX3N 40 NOILOFTIS HLIM SLYYHO 38N ‘SNOILVNLIS TYAHON NYHL SNOQuYZYH

0N SI ISAVTI00 LSOd FHIFHM HO (Z AYODTLYD NIVeIL Z0241SY) SITIL GILVTIOS! ‘ONVISSYHS N3O SV

w

G 14

€

4

$1S0d 40 "ON

HONS SA33dS ANIM Y¥3HOIH OL INO¥d SNOILYO0T G3SOdX3 NI SNOIS HO “(€ AHODILYD NIVHYIL 2'024SY) 1SFH04
3SNIA HO SYIFHY YIILSNANI ‘ONISNOH NVENENS SY HONS NIVYY3L G3ATIIHS ATIVILYYd NO 43SVE 34V SIMVHO ¢

"1S0d 1S37VL 3HL 40 LHOIH = HANNOYO NIAINNNO T
'T°0L11SY NO¥4 G3AIM3A 3SOHL NVHL 3ONYA330X3 40 ALIIEYE0Hd
v YIHOIH IAVH HOIHM SNOIS av0d ¥04 3AIND NOISIA ANVISNIIND FHL NI d3Ld0AV SA33dS ANIM NOISIA NO a3sve

FdY SLYYHO NOIS3A 3SIHL 'SLEVHO NOISAA FHL 40 3d0IS FHL FAISLNO SLHOdANS NOIS HO4 S3AIND ALKMOHLNY
31VLS INVAFT34 01 0 2'ZrLL SV OL ¥343Y "AIVA LON 3V SLHVHO NOISIA 3ISTHL ‘'SAVOY NIV ANV LHOdSNYHL
40 INJNLHYdIA INFWNYIAOD ANYISNIIND 3HL 40 NOILIIASIING FHL NIHLIM A31VO0T LON SNOIS¥O4 '}

S1S0d LSYIILDO

WgZ = (4 X V) VIHV NIIS :28 NOIDIYH - SLSO0d LSYINILLO - ¢'29 LHVHI

Page 54 | Product Catalogue



OPTIMAST > WIND REGION B2.3 (<40M?)

0y

8¢ 9€

2W(d X v) YUY N9IS
ve 43 0¢ 82

¢'¢8 1dVHO 01 Y3434

el

89}

891

89} 612

6l¢

6lc

6l¢

6l
l244

e

1444

1444

vve

001g=H

\\\\ 00Le=H

00e€ = H

006 = H

00sh = H

0015 =H

NOLLYWHOSNI T¥OINHO3L TYNOILIAQY 304 TYNNYIN LONAOYd LSYWILHO 3HL OL 33434 (3

W9y = g LSYWILAO/BHZ LSYWILAOIBI} LSYWILO W2 = L2) 1SYAILO (8+H) SLHOIFH LSOd WNIWININ ONIMOTIOH
3HL HLIM ATdINOD OL SI AMLINO3ID NOIS HL 'ALITISIONYS ¥O4 3SN 40 SNOLLIGNOD TYOINHOIL GIAOMAdY 3HL HLIM ATINOD OL Y SIITBWISSY JOVNOIS FuIHM 6
SINIT3AIND ALIMOHLNY 3LYLS HLIM 3ONYAHOOY NI SI NV NOILYLOY SLSISFY LINIWHOVLLY NOIS 3HL J43HM 03SN 38 AINO LSNI SL¥0AdNS NOIS 1S0d 3TONIS
W9y = b LSYWILAO/BIZ LSYWILAOIBI} LSYNILO Wi'Z = L2b 1SYIILO 8+H) SLHOIZH 1SOd WNINININ ONIMOTIOH
3HL HLIM ATdNOD OL SI AML3W03D NOIS 3HL ‘ALIIGIONYS 404 3SN 40 SNOILIANOD T¥OINHOIL G3A0UddY 3HL HLIM ATdWOD OL 34V SI18W3SSY IOYNDIS JHIHM
30IAQV NOISIA ¥O4 ¥3ITddNS LOVINOD 8X5 NVHL ¥ILYIHO SI'V 41 .8, NOISNIWIA SFNIL () IAIS NVHL IHOW ON S1.¥: NOISNIWIQ LYHL INNSSY SLAVHO

<

G 14

€

14

$1S0d 40 'ON

150d T33LS ¥313VIA 3WYS 3HL OL 318YOITddY S3ZIS ONILOO4 35N 'S3ZIS ONILOO4 HO4 SNOIS QYOY ¥04 3AIN9 NOISIA ANYISNIIND OL ¥343Y
‘228 ONY 128 SLYVHO OL ¥343Y 'SNOIS ¥3TIVINS ¥04
'310d TYNOILIGQY NV ¥O dN 3ZIS 1SOd LX3N 40 NOILO3T3S HLIM SLYYHO 3SN 'SNOLLYNLIS TYWHON NYHL SNOQ¥YZYH FHON
SI 35dVT100 1SOd FH3HM HO (¢ AYODILYD NIVHYIL Z'0L11SY) STFUL AILYTOSI 'ANYISSYHO NIJO SY HONS SO33dS ANIM ¥3HOIH OL INO¥d SNOILYOO0T 03S0dX3 NI
SNOIS H04 (€ AMO9ILYO NIVHYIL Z0241SY) LSTHO4 ISNIA HO SYIUY WIMLSNANI ‘ONISNOH NYEHNENS SY HONS NIVHYIL G3AT3IHS ATTVILYYd NO 43SV 34V SLUYHO
'1S0d 1S3TTVL 3HL 40 LHOI3H = H ONNO¥O NIAINN NO T
“T0LLISY NO¥4 Q3AN30
3SOHL NYHL 3ONVAIIOX3 40 ALIIBYE0¥d ¥IHOIH IAVH HOIHM SNOIS OYOY ¥O4 30IND NOISIA ANYISNIIND 3HL NI 431dOAY SU33S ANIM NOISIA NO G3SvE Fuv
SLY¥VHO NOISIA 3SIHL "SLYVHO NOISIA 3HL 40 3d0OS IHL 3AISLNO S1¥0ANS NOIS HO4 S3AIND ALOHLNY 3LVLS INVAITIM OL ¥O Z'2vL} SY OL 3434 ‘AIVA LON
34V SLYVHO NOISIA ISTFHL 'SAYOY NIYIW ONY LHOSNYHL 40 INIWLHYEIA INFWNYIA0D ANYISNIIND IHL 40 NOILOIASIMNT FHL NIHLIM G3LYOO0T LON SN9IS ¥O4 !

S31ON

<6 o

S1S0d LSYIILDO

WO0Y = (4 X V) VIUV NIIS :28 NOI9IH - SLSOd LSYINILAO - €29 LHVHI

Page 55 | Product Catalogue



OPTIMAST > WIND REGION C1 (<10M?)

0l

(g X ) YIHY N9IS

9

wn

<
o

N
~—

¢0l

¢0l

c0t

¢0l

Lot

¢0l
L8l

891

Lcl

Lol
891

6l

Lel

891

891

6l¢

891

vve

\

\ \\ \\
‘\\ \\\ \
NN

\

\”N,

6le

(1%

1444

6l¢

14 € ¢

S1S0d 40 'ON

SRR

2/8+H = (ww) 4

"NOLLYWHO4NI T¥DINHOIL TYNOLLIAAY 404 TYNNYIN LONAOHd LSYINILJO 3HL OL ¥343d 8
'SANITAAIND ALIYOHLNY 31VLS HLIM JONYAHOIIV
NI'SIONV NOILYLOY S1SISTY INJWHOVLLY NOIS FHL F4IHM d3SN 38 AINO LSNIN SLHOddNS NOIS LSO FTONIS 'L
W9y = ¥¥Z LSYNILO/6LZ LSYINILJO/89) LSYWILO ‘T = L2}
LSVINILAO :(8+H) SLHOIFH LSOd INNINININ ONIMOTIOS HL HLIM ATdINOD OL SI AYLINO3IO NOIS FHL ALITIGIONYYS
¥04 3SN 40 SNOILIANOD TYOINHO3L 3A0¥ddY IHL HLIM ATdINOD OL 3dY SAITEWISSY 3OVNOIS FHIHM 9
'1SOd 13318 "313AVIA JNVS 3HL
01 378v0I1ddY S3ZIS ONILOO4 3SN "S3ZIS ONILOOH ¥O4 SNOIS AVOY ¥04 3AINS NOISIA ANVISNIIND OL ¥34TH G

‘€0 ANV 20 SLYVHO OL 4343 'SNOIS ¥IDUYTHOS

~

'310d

VYNOLLIAAY NV ¥O dN 3ZIS LSOd LX3N 40 NOILOT3S HLIM SLYVHD 3SN ‘SNOILVNLIS TYWHON NYHL SNOQYYZYH
FUOW SI 3SdYT100 LSOd FHIFHM HO (2 AY09ILYO NIVEYIL 2'0241SY) SIFYL AILYI0SI ‘ANYISSYHO N3dO SY HONS

$033dS ANIM ¥3HOIH OL INO¥ SNOILYO0T A3S0dX3 NI SNOIS H04 '(€ AYO9ILYD NIVHYIL 7'024SY) LSTHO4

3SN3A YO SYIHY TVIYLSNANI ‘ONISNOH NYEHNENS SY HONS NIVHYIL 03ATIHS ATIVILYYd NO 03SVE F4Y SLYVHO ¢

"LSOd LS3TTVL 3HL 40 LHOIZH = H ANNOYO NIAINNNO -

o

"T°0L1LSY NOYH 3AIY3A ISOHL NVHL JONVAIIOXT 40 ALITIGVEOUd HIHOIH
JAVH HOIHM SNOIS aYOd 404 3dINS NOIS3A ANYISNIINDO 3HL NI A3Ld0AY SA33dS ANIM NOISIA NO d3svea 3V

S1dYHO NOIS3A 3S3HL 'SIdYHO NOIS3A 3HL 40 3d0IS IHL FAISLNO SLHOdNS NOIS ¥O4 S3AIND ALIMOHLNY
31VLS INVAZ13Y OL ¥O 2'Zr2) SY OL 83434 "AIVA LON 34V SLYYHO NOISIA ISTHL 'SAVOY NIV ANV LYOdSNYYL

40 INJFWLYYDIA INIWNYIAOO ANVISNIINO IHL 40 NOLLOISIINF IHL NIHLIM A31VO0T LON SNOIS ¥04

S3LON

S1S0d 1SYWILDO

AWOL = (4 X V) VUV NIIS :J NOI93Y - S1S0d LSYINILO - 13 LHVHI

Page 56 | Product Catalogue



OPTIMAST > WIND REGION C2 (<28 M?)

8¢

Lc

2W(g X ) YIUY N9IS
9¢ Gc 144 € 44 e 0¢ 6} 8l Ll 9l Gl vl €l 4" L ot

1'0 LdYHO 43434

a0l

¢0l

¢0l

Lel

Lcl

Lol

Lcl

891

891

89}

891

891

61¢

61¢

6l

61¢

6l¢

444

444

vve

e

vve

\

OOFN.“ H \

e — | —

\
\

ot

\
\

A

oomd“ Y \

ot

AN ANV

"NOILYIWHOANI T¥OINHO3L TYNOILIAAY 404 TYNNYN LONAOH LSYNILHO 3HL OL ¥343d 8

'SANIT3AINS ALIMOHLNY 31VLS HLIM JONYAYOIIY
NI'SI NV NOILYLOY S1SIS3Y INJWHOVLLY NOIS HL 343HM a3SN 38 AINO LSNIN S1H0ddNS NOIS 1SOd 3TONIS *2

W9y = v¥Z LSYIILAO/6LZ LSYIILAO/89L LSYWILO ‘YT = L2}
LSYINILAO :(@+H) SLHOIZH LSO WNINININ ONIMOTIO4 FHL HLIM ATdWOO OL SI AYLINO0IO NOIS FHL ALITIEIONYYA

~

TYNOILIAY NY ¥O dNn 3ZIS LSOd LX3N 40 NOILOF T3S HLIM SLYVHO 3SN 'SNOILYNLIS TYWHON NYHL SNOQuYZYH

YOI SI 3SdYT100 LSOd FHIHM ¥O (2 AMOOILYO NIVHYIL 2'0211SY) SIIHL A3LYI0SI ‘ANYISSYHO N3O SY HONS
$Q33dS ONIM ¥3IHOIH OL INO¥d SNOILYO0T AISOdX3 NI SNOIS H04 ‘(€ AYOOILYO NIVHYIL Z'021LSY) 1STH0S
ISN3A ¥O SYIUY TYIYLSNANI ‘ONISNOH NYEYNENS SY HONS NIVHYIL A3AT3IHS ATTVILYYd NO A3SY8 34V SLYVHO '€

Y04 3SN 40 SNOILIANOD T¥OINHOIL A3A0HddY FHL HLIM ATdWNOD OL 34V S3ITANISSY FOVNOIS IHIHM 9
"1SOd T331S ¥313VIA NS IHL
0L 3718¥2I1ddY S3ZIS ONILOO4 3SN "S3ZIS ONILOO4 HO4 SNOIS AVOH ¥04 3AIND NOISIA ANYISNIIND OL ¥343Y G
H €'0 L¥VHO OL Y3434 'SNOIS ¥39YY1'L'0 LYVYHO OL ¥343Y 'SNOIS ¥4I TIVNS HO4 -
2/8+H=(ww) H 3704
i
i

"LSOd 1S3TTVL 3HL 40 LHOIFH = H ANNOYO NIAINN NO
'2°0L11SY NOYd A3AI3A 3ISOHL NVHL JONVA3F0X3 40 ALINIEYE0dd ¥3HOIH
JAVH HOIHM SNOIS aYOd 04 3aIN9 NOIS3IA ANYISNIIND FHL NI d31d0AY SA33dS ANIM NOISIA NO a3svd 3dvY

o

14

€

14

$1S0d 40 'ON

S1YVHO NOIS3d 3S3HL 'SL¥VYHO NOIS3A 3HL 40 3d00S FHL 3AISLNO SLYOddNS NOIS HO4 S3AINO ALIYOHLNY

v 31VLS INVAT13Y OL ¥O 2'z/L SY OL 43434 "AITVA LON 34V SLUVHO NOISIA ISIHL 'SAVOY NIVIN ANY LHOdSNYHL
40 INFWLYYHIA INFWNYIAOD ANVISNIINO IHL 40 NOLLOIASIENF IHL NIHLIM G3L¥O0T LON SNOIS 04 L
S3LON

S1S0d 1SVINILdO

WgZ = (4 X V) ¥IUY NIIS :J NOI9IH - S1S0d LSYINILO - 20 LHVHI

Page 57 | Product Catalogue



OPTIMAST > WIND REGION C3 (<40M?)

2W(d X v) YUV N9IS

1% 6¢ 8¢ A 9¢ Ge 143 €€ 43 1€ 0¢ 6¢ 8¢
'¢’0 LHVHO H343d
2l | gy | Bk |
Ll 2/a+H = (ww) H
prqs
891 1444
612 g +
891 u
891 6l2
v
e
612 | _——
—
E—
— E—
612 OOPNl_I | — |
\\ ‘\\\
——
1444 L
00Le=H L
—
\ \\\
\ \\
P72 L —
comwu.I
oommn_t
14749
OO@«“?’
NOILYWHOANI T¥OINHO3L TYNOILIGQY ¥O4
WANYW 1ONA0Yd 1SYWILAO FHL OL ¥343Y '8
\ SINMIAIND ALIMOHLNY LYLS HLIM 3ONVAY0IDV NI SI NY NOLLYLOY SLSISTY
INIWHOVLLY NOIS 3HL F43HM 03SN 38 AINO LSNA SLIOddNS NOIS 1SOd J1ONIS °L
W'Y = 757 LSYINILAO/B1Z LSYWILAO/B9} LSYWILAO ‘Wi’ = 12} LSYWILO :(8+H) SLHOI3H
oo(m“_/» 1S0d WNWININ ONIMOTIOA FHL HLIM ATdNOD OL S| AMLINOIO NOIS FHL ALIIEIONYNS ¥O4
35N 40 SNOLLIGNOD T¥OINHO3L AIAOHAY FHL HLIM ATJWOD OL 34 S3ITEWISSY JOVNDIS IHIHM 9
1S0d T33LS ¥3LIWVIA WS FHL OL 18¥0IddY S3ZIS ONILOOS 3SN
'§37IS ONILOO4 ¥04 SNOIS QY0¥ 404 3IN9 NOISIA ANYISNIIND OL ¥I4TY '
0 ONY 1D SL¥VHO OL ¥3434 'SNOIS 3 TIVAS ¥04 ¥
310d TYNOILLIGQY NV ¥O dN 37IS 1SOd LX3N 40 NOILOFTIS HLIM SLUVHO 35N ‘SNOLLYNLIS TYINMON NYHL SNOGHYZYH 3HON SI 38dvVT100 1SOd
JUIHM HO (Z AJ09ILYD NIVHY3L Z0211SY) S33UL GILYI0S! ‘ANYISSYHO N3O SY HONS SIS ANIM 3HOIH OL INO¥d SNOILYO0T 03SOdX3 NI SNOIS ¥04
(€ AHOD3LYO NIVHY3L 7'0211SY) 1S3H04 ISNIA HO SYIdY WYIILSNANI ‘ONISNOH NYEUNGNS SY HONS NIVYYIL G3ATIIHS ATIVILYYd NO G358 3V SLMVHD '€
1S0d 1S3TIVL 3HL 40 LHOIFH = H ANNOYO NIAINANO 2
Z0LL1SY WOY4 G3AIMIA 3SOHL NYHL 3ONYA330X3 40
g b g 2 L ALIIBYE0Yd Y3HOIH IAVH HOIHM SNOIS QYOY 404 3IN9 NOISIA ANYISNIIND FHL NI 431d0aY SAFIAS ANIM NOISIA NO 03SYE FuY SLYYHO NOISIA ISTHL
: *SLHVHO N9IS3A FHL 40 3OS FHL 3AISLNO SLHOdNS NOIS ¥O4 SIAIND ALIMOHLAY ILYLS LNVAITIN OL MO ZZvL} SY OL ¥3434 "AITVA LON TV SL¥VHO
S150d 40 'ON NOIS3A 3STHL ‘SAVOY NIVIN ONY LHOISNYL 40 INFNLHYAIA LNFWNYIA0D ANYISNIIND 3HL 40 NOLLDIASINNF IHL NIHLIM G3L¥0T LON SNOIS 404 |
S3LON
—_— . .
$150d LSYAILA0 WOy = (4 X V) YIHY NOIS :9 NOI93Y - S1S0d LSYINILO - €9 1HYHI

Page 58 | Product Catalogue



GALLERY



GALLERY

Page 60 | Product Catalogue



GALLERY



GALLERY

Page 62 | Product Catalogue



NOTES




Signfix

Signfix Australia is a division of Delnorth Pty Ltd ABN 26 051 954 977.

The Signfix system was originally pioneered in England in 1979 and has since
become a world leader in developing quality fixing systems to the sign industry.
Signfix was established in Australia as a major supplier of sign fixing systems

20 years ago. Its products are approved by government road transport and
infrastructure departments nationwide.

Our aim is to provide and maintain the highest standard of road safety with emphasis
on continuous improvement of product through innovation and development.

SUPPLIERS TO

A mainroads

ACT 'r’ WESTERN AUSTRALIA

Government

Wik
S

GOVERNMENT

=
&% NORTHERN Queensland .7
29 TERRITORY * Government  Jasmanan

of South Australia

For further information visit
www.signfix.com.au

P 1300 174463 (1300 1 SIGNFIX)
F 0240336599
E sales@signfix.com.au

63 Bonville Ave,
Thornton NSW 2322, Australia



1300 SIGNFIX (1300 174 463) www.signfix.com.au

Si1gnfix

A U S T R A L | A



